
Ver 2021.A

Product List

Seoul West (Head Office) : 668, Gukhoe-daero, Yeongdeungpo-gu, Seoul, Korea

Seoul East                   : 10, Olympic-ro 35ga-gil, Songpa-gu, Seoul, Korea

+82 2 6672 3363 /  +82 2 6672 3362

INFO@MOTROS.NET

ADDRESS

TEL / FAX

E-MAIL

WEBSITE WWW.MOTROS.NET



PUMP KAWASAKI 10L P/P-CYB-A CYL.BLOCK & W/V PLATE

PUMP KAWASAKI 10L P/P-CYB CYLINDER BLOCK

PUMP KAWASAKI 10L P/P-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI 10L P/P-SFT SINGLE SHAFT

PUMP KAWASAKI 10L P/P-SWP SWASH PLATE

PUMP KAWASAKI 10L P/P-VLP VALVE PLATE

PUMP Linde 2PV105-CYB CYLINDER BLOCK

PUMP Linde 2PV105-PTR PISTON RING

PUMP Linde 2PV105-PTS PISTON SHOE SET(7PCS/SET)

PUMP Linde 2PV105-PTS PLUNGER (7PCS/SET)

PUMP Linde 2PV105-STP SET PLATE

PUMP Linde 2PV105-VLP-LH VALVE PLATE LH

PUMP Linde 2PV105-VLP-RH VALVE PLATE RH

PUMP Linde 2PV35-CYB CYLINDER BLOCK

PUMP Linde 2PV35-PTR PISTON RING

PUMP Linde 2PV35-PTS PISTON SHOE SET(7PCS/SET)

PUMP Linde 2PV35-PTS PLUNGER (7PCS/SET)

PUMP Linde 2PV35-STP SET PLATE

PUMP Linde 2PV35-VLP-L VALVE PLATE LH

PUMP Linde 2PV35-VLP-R VALVE PLATE RH

PUMP Linde 2PV50-CYB CYLINDER BLOCK

PUMP Linde 2PV50-PTR PISTON RING

PUMP Linde 2PV50-PTS PISTON SHOE SET(7PCS/SET)

PUMP Linde 2PV50-PTS PLUNGER (7PCS/SET)

PUMP Linde 2PV50-STP SET PLATE

PUMP Linde 2PV50-VLP-LH VALVE PLATE LH

PUMP Linde 2PV50-VLP-RH VALVE PLATE RH

PUMP Linde 2PV75-CYB CYLINDER BLOCK (SLEEVE TYPE)

PUMP Linde 2PV75-PTR PISTON RING

PUMP Linde 2PV75-PTS PISTON SHOE SET(7PCS/SET)

PUMP Linde 2PV75-PTS PLUNGER (7PCS/SET)

PUMP Linde 2PV75-STP SET PLATE

PUMP Linde 2PV75-VLP VALVE PLATE

PUMP Sauer Danfoss 90L055-CYB CYLINDER BLOCK

PUMP Sauer Danfoss 90L055-PTS PISTON SHOE SET

PUMP Sauer Danfoss 90L055-STP SET PLATE

PUMP Sauer Danfoss 90L055-GDE GUIDE SET

PUMP Sauer Danfoss 90L055-VLP VALVE PLATE

PUMP Sauer Danfoss 90L055-SWP-A SWASH PLATE ASS'Y

                                                    MOTOR & PUMP Parts List

Category Original Brand Model Description



PUMP Sauer Danfoss 90L075-CYB CYLINDER BLOCK

PUMP Sauer Danfoss 90L075-PTS PISTON SHOE SET

PUMP Sauer Danfoss 90L075-STP SET PLATE

PUMP Sauer Danfoss 90L075-GDE GUIDE SET

PUMP Sauer Danfoss 90L075-VLP VALVE PLATE

PUMP Sauer Danfoss 90L075-SWP-A-OLD SWASH PLATE ASS'Y (OLD)

PUMP Sauer Danfoss 90L075-SWP-A-NEW SWASH PLATE ASS'Y (NEW)

PUMP Sauer Danfoss 90L100-CYB CYLINDER BLOCK

PUMP Sauer Danfoss 90L100-PTS PISTON SHOE SET

PUMP Sauer Danfoss 90L100-STP SET PLATE

PUMP Sauer Danfoss 90L100-GDE GUIDE SET

PUMP Sauer Danfoss 90L100-VLP VALVE PLATE

PUMP Sauer Danfoss 90L100-SWP-A-OLD SWASH PLATE ASS'Y (OLD)

PUMP Sauer Danfoss 90L100-SWP-A-NEW SWASH PLATE ASS'Y (NEW)

PUMP Sauer Danfoss 90L130-CYB CYLINDER BLOCK

PUMP Sauer Danfoss 90L130-PTS PISTON SHOE SET

PUMP Sauer Danfoss 90L130-STP SET PLATE

PUMP Sauer Danfoss 90L130-GDE GUIDE SET

PUMP Sauer Danfoss 90L130-VLP VALVE PLATE

PUMP Sauer Danfoss 90L130-SWP-A-OLD SWASH PLATE ASS'Y (OLD)

PUMP Sauer Danfoss 90L130-SWP-A-NEW SWASH PLATE ASS'Y (NEW)

PUMP Rexroth/Uchida A10V028-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A10V028-PIN PIN

PUMP Rexroth/Uchida A10V028-PTS PISTON SHOE SET(9PCS/SET)

PUMP Rexroth/Uchida A10V028-STP-A SET PLATE & BALL GUIDE

PUMP Rexroth/Uchida A10V028-VLP-LH VALVE PLATE LH

PUMP Rexroth/Uchida A10V028-VLP-RH VALVE PLATE RH

PUMP Rexroth/Uchida A10V028-SWP-L YOUKE LH

PUMP Rexroth/Uchida A10V028-SWP-R YOUKE RH

PUMP Rexroth/Uchida A10V40-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A10V40-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A10V40-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A10V40-PTS PISTON SHOE SET(9PCS/SET)

PUMP Rexroth/Uchida A10V40-STB-A SET PLATE & BALL GUIDE

PUMP Rexroth/Uchida A10V40-SHP SHOE PLATE

PUMP Rexroth/Uchida A10V40-VLP-LH VALVE PLATE LH

PUMP Rexroth/Uchida A10V40-VLP-RH VALVE PLATE RH

PUMP Rexroth/Uchida A10V43-BLG BALL GUIDE

PUMP Rexroth/Uchida A10V43-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A10V43-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A10V43-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A10V43-PTS PISTON SHOE SET(9PCS/SET)

PUMP Rexroth/Uchida A10V43-STP SET PLATE 

PUMP Rexroth/Uchida A10V43-STB-A SET PLATE & BALL GUIDE

PUMP Rexroth/Uchida A10V43-SHP SHOE PLATE

PUMP Rexroth/Uchida A10V43-VLP-LH VALVE PLATE LH

PUMP Rexroth/Uchida A10V43-VLP-RH VALVE PLATE RH



PUMP Rexroth/Uchida A10VD43-BLG BALL GUIDE

PUMP Rexroth/Uchida A10VD43-CYB-LH CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A10VD43-CYB-RH CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A10VD43-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A10VD43-PIN PIN (3PCS/SET)

PUMP Rexroth/Uchida A10VD43-PTS PISTON SHOE SET(9PCS/SET)

PUMP Rexroth/Uchida A10VD43-STP SET PLATE

PUMP Rexroth/Uchida A10VD43-STB-A SET PLATE & BALL GUIDE

PUMP Rexroth/Uchida A10VD43-SHP SHOE PLATE

PUMP Rexroth/Uchida A10VD43-VLP-F-BIG VALVE PLATE FRONT

PUMP Rexroth/Uchida A10VD43-VLP-R-SMALL VALVE PLATE REAR

PUMP Rexroth/Uchida A10VD43-CON-B CONTROL PISTON BIG

PUMP Rexroth/Uchida A10VD43-CON-S CONTROL PISTON SMALL

PUMP Rexroth/Uchida A10V71-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A10V71-PTS PISTON SHOE SET(9PCS/SET)

PUMP Rexroth/Uchida A10V71-PIN PIN (3PCS/SET)

PUMP Rexroth/Uchida A10V71-STB-A SET PLATE & BALL GUIDE

PUMP Rexroth/Uchida A10V71-STP SET PLATE

PUMP Rexroth/Uchida A10V71-VLP-LH VALVE PLATE LH

PUMP Rexroth/Uchida A10V71-VLP-RH VALVE PLATE RH

PUMP Rexroth/Uchida A10V45-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A10V45-PTS PISTON SHOE SET(9PCS/SET)

PUMP Rexroth/Uchida A10V45-STB-A SET PLATE & BALL GUIDE

PUMP Rexroth/Uchida A10V45-SHP SHOE PLATE

PUMP Rexroth/Uchida A10V45-VLP-LH VALVE PLATE LH

PUMP Rexroth/Uchida A10V45-VLP-RH VALVE PLATE RH

PUMP Rexroth/Uchida A10V63 VALVE PLATE

PUMP Rexroth/Uchida A10VD17-BLG BALL GUIDE

PUMP Rexroth/Uchida A10VD17-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A10VD17-PTS PISTON SHOE SET(9PCS/SET)

PUMP Rexroth/Uchida A10VD17-PIN PIN

PUMP Rexroth/Uchida A10VD17-STP SET PLATE

PUMP Rexroth/Uchida A10VD17-STB-A SET PLATE & BALL GUIDE

PUMP Rexroth/Uchida A10VD17-SHP SHOE PLATE

PUMP Rexroth/Uchida A10VD17-VLP-L VALVE PLATE LH

PUMP Rexroth/Uchida A10VD17-VLP-R VALVE PLATE RH

MOTOR Rexroth/Uchida A2FO23-PTS PLUNGER WITH 2RING

MOTOR Rexroth/Uchida A2FO23-PTS PISTON SHOE SET WITH 2 RING

MOTOR Rexroth/Uchida A2FO23-C.PTS CENTER PISTON

MOTOR Rexroth/Uchida A2FO23-SFT DRIVE SHAFT

MOTOR Rexroth/Uchida A2FO23-STP SET PLATE

MOTOR Rexroth/Uchida A2FO23-CYB CYLINDER BLOCK

MOTOR Rexroth/Uchida A2FO23-VLP VALVE PLATE



MOTOR Hydromatic A4V71EL-CBA CYL.BLOCK & W/V PLATE

MOTOR Hydromatic A4V71EL-PTS PISTON SHOE SET(9PCS/SET)

MOTOR Hydromatic A4V71EL-STB-A SET PLATE & BALL GUIDE

MOTOR Hydromatic A4V71EL-VLP VALVE PLATE

MOTOR Hydromatic A4V125-PTS PISTON SHOE SET(9PCS/SET)

MOTOR Hydromatic A4VG125-BLG BALL GUIDE

MOTOR Hydromatic A4VG125-CBA CYL.BLOCK & W/V PLATE 

MOTOR Hydromatic A4VG125-PTS PISTON SHOE SET(9PCS/SET)

MOTOR Hydromatic A4VG125-STP SET PLATE

MOTOR Hydromatic A4VG125-VLP VALVE PLATE

MOTOR Hydromatic A4VG180-PTS PISTON SHOE SET(9PCS/SET)

MOTOR Hydromatic A4VG180-STP SET PLATE

MOTOR Hydromatic A4VG180-CBA CYL.BLOCK & W/V PLATE 

PUMP Rexroth/Uchida A8VO107-CYB-L-CAT CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A8VO107-CYB-R-CAT CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A8VO107-CYB-CAT CYLINDER BLOCK(CAT)

PUMP Rexroth/Uchida A8VO107-SFT DRIVE SHAFT

PUMP Rexroth/Uchida A8V107-CBA-L-CAT CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A8V107-CBA-L-SUM CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A8V107-CBA-R-CAT CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A8V107-CBA-R-SUM CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A8V107-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8V107-C-PIN CENTER PIN

PUMP Rexroth/Uchida A8V107-PTS-2R PISTON SHOE SET WITH 2 RING

PUMP Rexroth/Uchida A8V107-PTS PISTON SHOE SET(7PCS/SET)

PUMP Rexroth/Uchida A8V107-VLP-L-CAT VALVE PLATE LH (CAT)

PUMP Rexroth/Uchida A8V107-VLP-L-SUM VALVE PLATE LH (SUM)

PUMP Rexroth/Uchida A8V107-VLP-R-CAT VALVE PLATE RH (CAT)

PUMP Rexroth/Uchida A8V107-VLP-R-SUM VALVE PLATE RH (SUM)

PUMP Rexroth/Uchida A8V172-VLP-L VALVE PLATE LH

PUMP Rexroth/Uchida A8V172-VLP-R VALVE PLATE RH

PUMP Rexroth/Uchida A8VO160-C.PIN CENTER PISTON

PUMP Rexroth/Uchida A8VO160-CYB-LH CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A8VO160-CYB-RH CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A8VO160-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8VO160-SFT-R DRIVE SHAFT FRONT

PUMP Rexroth/Uchida A8VO160-SFT-L DRIVE SHAFT REAR

PUMP Rexroth/Uchida A8VO160-HDC HEAD COVER

PUMP Rexroth/Uchida A8VO160-HDC-A HEAD COVER ASSY

PUMP Rexroth/Uchida A8VO160-PTS PISTON SHOE SET WITH 2 RING

PUMP Rexroth/Uchida A8VO160-PTS PISTON SHOE SET

PUMP Rexroth/Uchida A8VO160-PCS PLUNGER

PUMP Rexroth/Uchida A8VO160-PTR PISTON RING

PUMP Rexroth/Uchida A8VO160-VLP-L VALVE PLATE LH

PUMP Rexroth/Uchida A8VO160-VLP-R VALVE PLATE RH



PUMP Rexroth/Uchida A8VO200-PTS PISTON SHOE SET WITH 2 RING

PUMP Rexroth/Uchida A8VO200-RING PISTON RING(SET/14PCS)

PUMP Rexroth/Uchida A8VO200-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8VO200-C.PST CENTER PISTON

PUMP Rexroth/Uchida A8VO200-VLP-L VALVE PLATE LH

PUMP Rexroth/Uchida A8VO200-LVP-R VALVE PLATE RH

PUMP Rexroth/Uchida A8V055SR-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8V55-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A8V55-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A8V55-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8V55-CSFT CENTER SHAFT

PUMP Rexroth/Uchida A8V55-HDC HEAD COVER

PUMP Rexroth/Uchida A8V55-PTR PISTON RING (2PCS/SET)

PUMP Rexroth/Uchida A8V55-PTS PISTON SHOE SET(7PCS/SET)

PUMP Rexroth/Uchida A8V55-PTS-2R PISTON SHOE SET WITH 2RING

PUMP Rexroth/Uchida A8V55-VLP-L VALVE PLATE LH

PUMP Rexroth/Uchida A8V55-VLP-R VALVE PLATE RH

PUMP Rexroth/Uchida A8V55 SRIR-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP Rexroth/Uchida A8V55 SRIR-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP Rexroth/Uchida A8V55 SRIR-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8V55 SRIR-CSFT CENTER PIN

PUMP Rexroth/Uchida A8V55 SRIR-HDC HEAD COVER

PUMP Rexroth/Uchida A8V55 SRIR-PTR PLUNGER

PUMP Rexroth/Uchida A8V55 SRIR-PTR PISTON SHOE SET(7PCS/SET)

PUMP Rexroth/Uchida A8V55 SRIR-SFT-L DRIVE SHAFT LH

PUMP Rexroth/Uchida A8V55 SRIR-SFT-R DRIVE SHAFT RH

PUMP Rexroth/Uchida A8V55 SRIR-VLP-L VALVE PLATE LH

PUMP Rexroth/Uchida A8V55 SRIR-VLP-R VALVE PLATE RH

PUMP Rexroth/Uchida A8V80-CSFT CENTER PIN

PUMP Rexroth/Uchida A8V80-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8V80-PTR PISTON RING

PUMP Rexroth/Uchida A8V80-PTS-2R PISTON SHOE SET WITH 2RING

PUMP Rexroth/Uchida A8V80-PTS PISTON SHOE SET(7PCS/SET)

PUMP Rexroth/Uchida A8V80-VLP VALVE PLATE LH

PUMP Rexroth/Uchida A8V80-VLP VALVE PLATE RH

PUMP Rexroth/Uchida A8V86-PTS-R PISTON SHOE SET WITH RING

PUMP Rexroth/Uchida A8V86-CYB CYLINDER BLOCK

PUMP Rexroth/Uchida A8V86-SFT-L DRIVE SHAFT LH

PUMP Rexroth/Uchida A8V86-SFT-R DRIVE SHAFT RH

PUMP Rexroth/Uchida A8V86-C.PIN CENTER PISTON

PUMP Rexroth/Uchida A8V86-VLP VALVE PLATE LH

PUMP Rexroth/Uchida A8V86-VLP VALVE PLATE RH

PUMP Uchida AP2D25-STB-A BALL GUIDE

PUMP Uchida AP2D25-CYB CYLINDER BLOCK

PUMP Uchida AP2D25-SFT DRIVE SHAFT

PUMP Uchida AP2D25-PIN PIN (3PCS/SET)

PUMP Uchida AP2D25-PTS PISTON SHOE SET(10PCS/SET)

PUMP Uchida AP2D25-STP SET PLATE



PUMP Uchida AP2D25-SHP SHOE PLATE

PUMP Uchida AP2D25-SPR SPRING(CYB)

PUMP Uchida AP2D25-S.SEAT SPRING SEAT (2PCS/SET)

PUMP Uchida AP2D25-VLP VALVE PLATE

PUMP Uchida AP2D36-CYB CYLINDER BLOCK

PUMP Uchida AP2D36-PIN PIN (3PCS/SET)

PUMP Uchida AP2D36-PTS PISTON SHOE SET(10PCS/SET)

PUMP Uchida AP2D36-STP-A SET PLATE & BALL GUIDE

PUMP Uchida AP2D36-SHP SHOE PLATE

PUMP Uchida AP2D36-VLP VALVE PLATE

PUMP Uchida AP2D36-SWP-A SWASH PLATE ASS'Y

PUMP Uchida AP5S53-CYB CYLINDER BLOCK

PUMP Uchida AP5S53-PTS PISTON SHOE SET

PUMP Uchida AP5S53-STB-A SET PLATE & BALL GUIDE

PUMP Uchida AP5S53-SFT SHAFT

PUMP Uchida AP5S53-SHP SHOE PLATE

PUMP Uchida AP5S53-VLP VALVE PLATE

PUMP Linde BPV200-CYB CYLINDER BLOCK

PUMP Linde BPV200-PTS PISTON SHOE SET(9PCS/SET)

PUMP Linde BPV200-PRD PUSH ROD

PUMP Linde BPV200-STP SET PLATE

PUMP Linde BPV200-SNR SNAP RING

PUMP Linde BPV200-SPR SPRING

PUMP Linde BPV200-SPRING SEAL SPRING SEAT

PUMP Linde BPV200-VLP VALVE PLATE

PUMP Caterpillar CAT12G-CYB CYLINDER BLOCK(BARREL ASSY)

PUMP Caterpillar CAT12G-PTS PISTON SHOE SET(9PCS/SET)

PUMP Caterpillar CAT12G-STP SET PLATE(RETRACTION PLATE)

PUMP Caterpillar CAT12G-SHP SHOE PLATE(THRUST)

PUMP Caterpillar CAT12G-VLP VALVE PLATE(BEARING)

PUMP Caterpillar CAT140G/160G-STP SET PLATE

PUMP Caterpillar CAT140H-PTS PISTON SHOE SET(9PCS/SET)

PUMP Caterpillar CAT14G-CYB CYLINDER BLOCK(BARREL ASSY)

PUMP Caterpillar CAT14G-PTS PISTON SHOE SET(9PCS/SET)

PUMP Caterpillar CAT14G-VLP PORT PLATE(BEARING P/L)

PUMP Caterpillar CAT14G-STP SET PLATE(RETRACTION PLATE)

PUMP Caterpillar CAT14G-SHP THRUST PLATE(SHOE P/L)

PUMP Caterpillar CAT312C CYL.BLOCK W/V.PLATE LH

PUMP Caterpillar CAT312C CYL.BLOCK W/V.PLATE RH

PUMP Caterpillar CAT312C PISTON SHOE SET

PUMP Caterpillar CAT312C SET PLATE & BALL GUIDE

PUMP Caterpillar CAT312C VALVE PLATE LH

PUMP Caterpillar CAT312C VALVE PLATE RH

PUMP Caterpillar CAT312C COIL SPRING(SET/6PCS)

PUMP Caterpillar CAT312C SPACER

PUMP Caterpillar CAT312C CAM(SWASH PLATE)

PUMP Caterpillar CAT312C SWASH PLATE(WITH METAL)



PUMP Caterpillar CAT312C BUSH(BEARING CRADEL)

PUMP Caterpillar CAT312C TILTING PIN

PUMP Caterpillar CAT312C SWASH BUSHING

PUMP Caterpillar CAT320-BLG BALL GUIDE

PUMP Caterpillar CAT320-CBA-R CYL.BLOCK & W/V PLATE LH

PUMP Caterpillar CAT320-CBA-F CYL.BLOCK & W/V PLATE RH

PUMP Caterpillar CAT320-CYB CYLINDER BLOCK

PUMP Caterpillar CAT320-PTS PISTON SHOE SET(9PCS/SET)

PUMP Caterpillar CAT320-STP SET PLATE

PUMP Caterpillar CAT320-STB-A SET PLATE & BALL GUIDE

PUMP Caterpillar CAT320-SFT-F SHAFT FRONT

PUMP Caterpillar CAT320-SFT-R SHAFT REAR

PUMP Caterpillar CAT320-SHP SHOE PLATE

PUMP Caterpillar CAT320-VLP-L VALVE PLATE LH

PUMP Caterpillar CAT320-VLP-R VALVE PLATE RH

PUMP Caterpillar CAT320-SPR COIL SPRING

PUMP Caterpillar CAT320-SPC SPACER

MOTOR Caterpillar CAT320-C-T/M PISTON SHOE SET

MOTOR Caterpillar CAT320-C-T/M SET PLATE

MOTOR Caterpillar CAT320-C-T/M BALL GUIDE

MOTOR Caterpillar CAT320-C-T/M SPACER

MOTOR Caterpillar CAT320-C-T/M CYLINDER BLOCK

MOTOR Caterpillar CAT320-C-T/M VALVE PLATE

MOTOR Caterpillar CAT320-C-T/M SWASH PLATE

PUMP Caterpillar CAT325-PTS PISTON SHOE SET

PUMP Caterpillar CAT325-CYB CYLINDER BLOCK

PUMP Caterpillar CAT325-VLP VALVE PLATE LH

PUMP Caterpillar CAT325-VLP VALVE PLATE RH

PUMP Caterpillar CAT325-SHP SHOE PLATE

PUMP Caterpillar CAT325-STP SET PLATE

PUMP Caterpillar CAT325-MTB-BIG METAL BUSH (BIG)

PUMP Caterpillar CAT325-MTB-SMALL METAL BUSH (SMALL)

PUMP Caterpillar CAT325-SPC SPACER

PUMP Caterpillar CAT350L-D-SFT DRIVE SHAFT 17TH

PUMP Caterpillar CAT350L-SWP-A SWASH PATE & SUPPORT

PUMP Caterpillar CAT350L-SWP-L SWASH PATE ASSY LH(COATING)

PUMP Caterpillar CAT350L-SWP-R SWASH PATE ASSY RH(COATING)

PUMP Caterpillar CAT320-C-SHP SBS120 SHOE PLATE

PUMP Caterpillar CAT320-C-VLP-L SBS120 VALVE PLATE LH

PUMP Caterpillar CAT320-C-VLP-R SBS120 VALVE PLATE RH

PUMP Kubota DC60-PTS PISTON SHOE SET

PUMP Kubota DC60-CYB CYLINDER BLOCK

PUMP Kubota DC60-STP SET PLATE

PUMP Kubota DC60-VLP VALVE PLATE (NO ARROW)

PUMP Kubota DC60-VLP VALVE PLATE RH

MOTOR Kawasaki DNB50-CYB-A CYL.BLOCK & W/V PLATE



MOTOR Kawasaki DNB50-CYB CYLINDER BLOCK

MOTOR Kawasaki DNB50-PTS PISTON SHOE SET(9PCS/SET)

MOTOR Kawasaki DNB50-STB-A SET PLATE & BALL GUIDE

MOTOR Kawasaki DNB50-SWP SWASH PLATE

MOTOR Kawasaki DNB08 CYLINDER BLOCK

MOTOR Kawasaki DNB08 PIN (3PCS/SET)

MOTOR Kawasaki DNB08 PISTON SHOE SET

MOTOR Kawasaki DNB08 SET PLATE & BALL GUIDE

MOTOR Kawasaki DNB08 VALVE PLATE

MOTOR Kawasaki DNB08 WASHER

PUMP Caterpillar E200B-M/P-AXL AXLE SHAFT

PUMP Caterpillar E200B-M/P-SFT-R DRIVE SHAFT RH

PUMP Caterpillar E200B-M/P-CYB DRUM

PUMP Caterpillar E200B-M/P-CYB-INCH DRUM (INCH SIZE)

PUMP Caterpillar E200B-M/P-DMS DRUM SEAL (9PCS/SET)

PUMP Caterpillar E200B-M/P-PTS-INCH PISTON SHOE (INCH SIZE)

PUMP Caterpillar E200B-M/P-PTS PISTON SHOE SET(9PCS/SET)

PUMP Caterpillar E200B-M/P-BRP-L PORT PLATE LH

PUMP Caterpillar E200B-M/P-BRP-R PORT PLATE RH

PUMP Caterpillar E200B-M/P-BLG RETAINER BALL

PUMP Caterpillar E200B-M/P-STP RETAINER(SET PLATE)

PUMP Caterpillar E200B-M/P-STR RETAINER(STEEL)

PUMP Caterpillar E200B-M/P-STB-A SET PLATE & BALL GUIDE

PUMP Caterpillar E200B-M/P-SHP SHOE PLATE

PUMP Caterpillar E200B-M/P-SPC SPACER 

PUMP Caterpillar E200B-M/P-VLP VALVE PLATE(BEARING PLATE)

PUMP Caterpillar SPK10/10-BLG(NEW) BALL GUIDE

PUMP Caterpillar SPK10/10-CYB-A(NEW) CYL.BLOCK & W/V PLATE LH

PUMP Caterpillar SPK10/10-CYB-A(NEW) CYL.BLOCK & W/V PLATE RH

PUMP Caterpillar SPK10/10-CYB NEW CYLINDER BLOCK

PUMP Caterpillar SPK10/10-SPC(NEW) SPACER

PUMP Caterpillar SPK10/10-SPR(NEW) SPRING

PUMP Caterpillar SPK10/10-VLP(NEW) VALVE PLATE LH

PUMP Caterpillar SPK10/10-VLP(NEW) VALVE PLATE RH

PUMP Caterpillar E300-AXL AXLE SHAFT

PUMP EATON EATON-72400-BLG BALL GUIDE

PUMP EATON EATON-72400-CYB CYLINDER BLOCK

PUMP EATON EATON-72400-PTS PISTON SHOE SET(9PCS/SET)

PUMP EATON EATON-72400-STP SET PLATE

PUMP EATON EATON-72400-VLP-M VALVE PLATE MOTOR

PUMP EATON EATON-72400-VLP-R VALVE PLATE RH

PUMP EATON EATON-72400-WSH WASHER

MOTOR HITACHI EM105 BALL GUIDE SEAT

MOTOR HITACHI EM105 CYLINDER BLOCK

MOTOR HITACHI EM105 PISTON SHOE SET(9PCS/SET)

MOTOR HITACHI EM105 SET PLATE & BALL GUIDE

MOTOR HITACHI EM105 SWASH BALL

MOTOR HITACHI EM105 SWASH PLATE & 2 BALLS



MOTOR HITACHI EM105 VALVE PLATE

MOTOR HITACHI EM105 SPACER

MOTOR HITACHI EX100-S/M-CBA CYL.BLOCK & W/V PLATE

MOTOR HITACHI EX100-S/M-CYB CYLINDER BLOCK

MOTOR HITACHI EX100-S/M-PTS PISTON SHOE SET(9PCS/SET)

MOTOR HITACHI EX100-S/M-STB-A SET PLAET & BALL GUIDE

MOTOR HITACHI EX100-S/M-SHP SHOE PLATE

MOTOR HITACHI EX100-S/M-VLP VALVE PLATE

MOTOR HITACHI EX100-T/M-C.SFT CENTER SHAFT

MOTOR HITACHI EX100-T/M-CYB CYLINDER BLOCK

MOTOR HITACHI EX100-T/M-SFT DRIVE SHAFT

MOTOR HITACHI EX100-T/M-PTS PISTON SHOE SET(7PCS/SET)

MOTOR HITACHI EX100-T/M-PTS PLUNGER (7PCS)

MOTOR HITACHI EX100-T/M-VLP VALVE PLATE

PUMP HITACHI EX200 ROTARY KIT BEARING (30212)

PUMP HITACHI EX200 ROTARY KIT BEARING (30212D)

PUMP HITACHI EX200 ROTARY KIT BEARING SPACER

PUMP HITACHI EX200 ROTARY KIT FINE U-NET

PUMP HITACHI EX200 ROTARY KIT OIL SEAL (AP3055F3)

PUMP HITACHI EX200 ROTARY KIT O-RING (G130)

PUMP HITACHI EX200 ROTARY KIT O-RING (P26)

PUMP HITACHI EX200 ROTARY KIT O-RING (P39)

PUMP HITACHI EX200 ROTARY KIT PLATE-A

PUMP HITACHI EX200 ROTARY KIT PLATE-B

PUMP HITACHI EX200 REGULATOR REGULATOR ASS'Y

PUMP HITACHI EX200 ROTARY KIT SEAL COVER

PUMP HITACHI EX200 ROTARY KIT SHAFT SPACER

PUMP HITACHI EX200 ROTARY KIT SNAP RING (R130)

PUMP HITACHI EX200 ROTARY KIT SPRING

MOTOR HITACHI EX200-T/M-SFT DRIVE SHAFT

MOTOR HITACHI EX200-T/M-VLP VALVE PLATE

PUMP HITACHI EX200-2-PIN CENTER PIN

PUMP HITACHI EX200-2-D.SFT-RH DRIVE SHAFT FRONT

PUMP HITACHI EX200-2-D.SFT-LH DRIVE SHAFT REAR

PUMP HITACHI EX200-2-HDC HEAD COVER DW

PUMP HITACHI EX200-2-PTS PISTON SHOE SET(7PCS/SET)

PUMP HITACHI EX200-2-PTS PLUNGER (7PCS)

PUMP HITACHI EX200-2-CYB ROTOR

PUMP HITACHI EX200-2-VLP VALVE PLATE DOUBLE

PUMP HITACHI EX200-2-VLPS VALVE PLATE SINGLE

PUMP HITACHI EX200-CAS PUMP CASING

PUMP HITACHI EX200-SERVO-PTS SERVO PISTON

PUMP HITACHI EX400-PIN CENTER PIN

PUMP HITACHI EX400-CYB CYLINDER BLOCK

PUMP HITACHI EX400-PTR PISTON RING

PUMP HITACHI EX400-PTS PLUNGER (7PCS/SET)

PUMP HITACHI EX400-PTS PISTON SHOE SET



PUMP HITACHI EX400-PTS PISTON SHOE SET WITH RING

PUMP HITACHI EX400-VLP VALVE PLATE

MOTOR HITACHI EX60-2/3-S/M-CYB CYLINDER BLOCK

MOTOR HITACHI EX60-2/3-S/M-PTS PISTON SHOE SET(9PCS/SET)

MOTOR HITACHI EX60-2/3-S/M-STB-A SET PLATE & BALL GUIDE

MOTOR HITACHI EX60-2/3-S/M-VLP VALVE PLATE

PUMP FIAT ALIS FLIAT ALIS F85-CLIP CLIP

PUMP FIAT ALIS FLIAT ALIS F85-CYB CYLINDER BLOCK

PUMP FIAT ALIS FLIAT ALIS F85-PTS PISTON SHOE SET(9PCS/SET)

PUMP FIAT ALIS FLIAT ALIS F85-PRD PUSH ROD(3PCS/SET)

PUMP FIAT ALIS FLIAT ALIS F85-STB-A SET PLATE & BALL GUIDE

MOTOR NABTESCO GM08 PISTON SHOE SET

MOTOR NABTESCO GM08 CYLINDER BLOCK

MOTOR NABTESCO GM09 PISTON SHOE SET

MOTOR NABTESCO GM09 CYLINDER BLOCK

MOTOR NABTESCO GM09 BALL GUIDE

MOTOR NABTESCO GM09 SHOE PLATE

MOTOR NABTESCO GM09 VALVE PLATE

MOTOR NABTESCO GM09 PIN

MOTOR NABTESCO GM15 PISTON SHOE SET

MOTOR NABTESCO GM17 BALL GUIDE

MOTOR NABTESCO GM17 SHOE PLATE

MOTOR NABTESCO GM17 CYLINDER BLOCK

MOTOR NABTESCO GM17 VALVE PLATE

MOTOR NABTESCO GM30F-PTS PISTON SHOE SET(9PCS/SET)

MOTOR NABTESCO GM30H-BLG BALL GUIDE

MOTOR NABTESCO GM30H-CYB CYLINDER BLOCK

MOTOR NABTESCO GM30H-PTS PISTON SHOE SET(9PCS/SET)

MOTOR NABTESCO GM30H-STP-A SET PLATE & BALL GUIDE



MOTOR NABTESCO GM30H-STP SET PLATE (RETAINER)

MOTOR NABTESCO GM30H-SWP SWASH PLATE

MOTOR NABTESCO GM30H-VLP VALVE PLATE

MOTOR NABTESCO GM35V-PTS PISTON SHOE SET(9PCS/SET)

MOTOR NABTESCO GM18VL2-CYB CYLINDER BLOCK

MOTOR NABTESCO GM18VL2-PTS PISTON SHOE SET(9PCS/SET)

MOTOR NABTESCO GM18VL2-STP-A SET PLATE & BALL GUIDE

MOTOR NABTESCO GM18VL2-VLP VALVE PLATE

MOTOR NABTESCO GM18VL2-SWP SWASH PLATE

MOTOR NABTESCO GM35VL-CYB CYLINDER BLOCK

MOTOR NABTESCO GM35VL-PTS PISTON SHOE SET(9PCS/SET)

MOTOR NABTESCO GM35VL-STP SET PLATE

MOTOR NABTESCO GM35VL-BLG BALL GUIDE

MOTOR NABTESCO GM35VL-STP-A SET PLATE & BALL GUIDE

MOTOR NABTESCO GM35VL-VLP VALVE PLATE

MOTOR HITACHI HMT107CF-DSFT DRIVE SHAFT

MOTOR HITACHI HMT107CF-VLP VALVE PLATE

MOTOR HITACHI HMT134CF-DSFT DRIVE SHAFT

MOTOR HITACHI HMT134-VLP VALVE PLATE

MOTOR HITACHI HMV116CF-CLP CRADLE PLATE

MOTOR HITACHI HMV116CF-DSFT DRIVE SHAFT

MOTOR HITACHI HMV116CF-VLP VALVE PLATE

MOTOR HITACHI HMV145-CLP CRADLE PLATE

MOTOR HITACHI HMV145-VLP VALVE PLATE

PUMP LINDE HPR100-CYB CYLINDER BLOCK

PUMP LINDE HPR100-MTB METAL BUSH (2PCS/SET)

PUMP LINDE HPR100-PTS PISTON SHOE SET(9PCS/SET)

PUMP LINDE HPR100-STB-A SET PLATE & BALL GUIDE

PUMP LINDE HPR100-SWP-L SWASH PALTE (SUPPORT)

PUMP LINDE HPR100-SWP SWASH PLATE

PUMP LINDE HPR100-VLP-LH VALVE PLATE LH

PUMP LINDE HPR100-VLP-RH VALVE PLATE RH

PUMP LINDE HPR130-CBA CYL.BLOCK & W/V PLATE

PUMP LINDE HPR130-CBA CYL.BLOCK & W/V PLATE RH

PUMP LINDE HPR130-MTB METAL BUSH (2PCS/SET)

PUMP LINDE HPR130-PTS PISTON SHOE SET(9PCS/SET)

PUMP LINDE HPR130-STB-A SET PLATE & BALL GUIDE

PUMP LINDE HPR130-SFT SHAFT

PUMP LINDE HPR130-SWP-L SWASH PALTE (SUPPORT)

PUMP LINDE HPR130-SWP-U SWASH PLATE(OLD TYPE)

PUMP LINDE HPR130-VLP VALVE PLATE (RH)

PUMP LINDE HPR160-CBA-LH CYL.BLOCK & W/V PLATE LH

PUMP LINDE HPR160-CBA-RH CYL.BLOCK & W/V PLATE RH

PUMP LINDE HPR160-PTS PISTON SHOE SET(9PCS/SET)



PUMP LINDE HPR160-STB-A SET PLATE & BALL GUIDE

PUMP LINDE HPR160-VLP-RH VALVE PLATE LH

PUMP LINDE HPR160-VLP-RH VALVE PLATE RH

PUMP LINDE HPR130/160 SWP SWASH PLATE (NEW)

PUMP HITACHI HPV050-CSFT CENTER PIN

PUMP HITACHI HPV050-CYB CYLINDER BLOCK

PUMP HITACHI HPV050-PTS PISTON SHOE SET(7PCS/SET)

PUMP HITACHI HPV050-PCS PLUNGER

PUMP HITACHI HPV050-SFT-L SHAFT LONG

PUMP HITACHI HPV050-SFT-S SHAFT SHORT

PUMP HITACHI HPV050-VLP-L VALVE PLATE LH

PUMP HITACHI HPV050-VLP-R VALVE PLATE RH

PUMP HITACHI HPV091EW HEAD COVER. EW

PUMP HITACHI HPV091ES/DS HEAD COVER

PUMP HITACHI HPV102-CSFT CENTER SHAFT

PUMP HITACHI HPV102-CYB CYLINDER BLOCK

PUMP HITACHI HPV102-DSC DRIVE DISC

PUMP HITACHI HPV102-HDC HEAD COVER

PUMP HITACHI HPV102-IDSC IDLER DISC

PUMP HITACHI HPV102-PTS PISTON SHOE SET(7PCS/SET)

PUMP HITACHI HPV102-SPTS SERVO PISTON

PUMP HITACHI HPV102-VLP-L VALVE PLATE LH

PUMP HITACHI HPV102-VLP-R VALVE PLATE RH

PUMP HITACHI HPV118-CSFT CENTER SHAFT

PUMP HITACHI HPV118-CYB CYLINDER BLOCK

PUMP HITACHI HPV118-DSC DRIVE DISC

PUMP HITACHI HPV118-HDC HEAD COVER

PUMP HITACHI HPV118-IDSC IDLER DISC

PUMP HITACHI HPV118-PTS PISTON SHOE SET(7PCS/SET)

PUMP HITACHI HPV118-SPTS SERVO PISTON

PUMP HITACHI HPV118-VLP-L VALVE PLATE LH

PUMP HITACHI HPV118-VLP-R VALVE PLATE RH

PUMP HITACHI HPV125-HDV HEAD VALVE

PUMP HITACHI HPV125-PTS PISTON SHOE SET(9PCS/SET)

PUMP HITACHI HPV125-PTS PLUNGER (9PCS/SET)

PUMP HITACHI HPV125-CYB ROTOR

PUMP HITACHI HPV135-CSFT CENTER SHAFT

PUMP HITACHI HPV135-SFT DRIVE SHAFT

PUMP HITACHI HPV135-HDV-A HEAD ASSY

PUMP HITACHI HPV135-HDC HEAD COVER

PUMP HITACHI HPV135-S.PIN PIN

PUMP HITACHI HPV135-PTS PISTON SHOE SET(7PCS/SET)

PUMP HITACHI HPV135-PTS PLUNGER (7PCS/SET)

PUMP HITACHI HPV135-CYB ROTOR

PUMP HITACHI HPV135-SPL SPOOL(SERVO PISTON)

PUMP HITACHI HPV135-VLP VALVE PLATE



PUMP HITACHI HPV145-CSFT CENTER SHAFT

PUMP HITACHI HPV145-SFT DISC DRIVE

PUMP HITACHI HPV145-HDV-A HEAD ASSY

PUMP HITACHI HPV145-HDC HEAD COVER

PUMP HITACHI HPV145-PTS PISTON SHOE SET(7PCS/SET)

PUMP HITACHI HPV145-PTS PLUNGER (7PCS)

PUMP HITACHI HPV145-CYB ROTOR

PUMP HITACHI HPV145-VLP VALVE PLATE

PUMP HITACHI HPV145-SERVO-PTS SERVO PISTON(SPOOL)

PUMP HITACHI HPV145F-C-PIN CENTER PIN

PUMP HITACHI HPV145F-D-SFT DRIVE SHAFT

PUMP HITACHI HPV145F-HDC HEAD COVER

PUMP HITACHI HPV145F-PTS PISTON SHOE SET

PUMP HITACHI HPV145F-PTS PLUNGER

PUMP HITACHI HPV145F-CYB ROTOR

PUMP HITACHI HPV145F-VLP VALVE PLATE

PUMP HITACHI HPV145F-S-PTS SERVO PISTON

PUMP HITACHI HPV145F-S-PIN SERVO PISTON PIN

MOTOR TOSHIBA HTM450D-CYB CYLINDER BLOCK

MOTOR TOSHIBA HTM450D-HDC HEAD COVER

MOTOR TOSHIBA HTM450D-PTS PISTON SHOE SET(13PCS/SET)

MOTOR TOSHIBA HTM450D-STP SET PLATE

MOTOR TOSHIBA HTM450D-SHO SHOE (13PCS/SET)

MOTOR TOSHIBA HTM450D-VLP VALVE PLATE

MOTOR TOSHIBA HTM450D-SWP SWASH PLATE

PUMP KAWASAKI K3SP36-BLG BALL GUIDE

PUMP KAWASAKI K3SP36-SPR COIL SPRING

PUMP KAWASAKI K3SP36-CBA CYL.BLOCK & W/V PLATE

PUMP KAWASAKI K3SP36-VLP VALVE PLATE

PUMP KAWASAKI K3SP36-PTS PISTON SHOE SET

PUMP KAWASAKI K3SP36-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI K3SP36-STP SET PLATE

PUMP KAWASAKI K3SP36-SFT SHAFT

PUMP KAWASAKI K3SP36-SWP-BALL-BIG SWASH BALL(BIG)

PUMP KAWASAKI K3SP36-SWP-BALL-SMALL SWASH BALL(SMALL)

PUMP KAWASAKI K3SP36-SWP SWASH PLATE

PUMP KAWASAKI K3SP36-SWP-2BALL SWASH PLATE WITH 2BALL

PUMP KAWASAKI K3V112BDT-SWP SWASH PLATE & SUPPORT

PUMP KAWASAKI K3V112DT-BLG BALL GUIDE

PUMP KAWASAKI K3V112DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K3V112DT-CBA-L-NV CYL.BLOCK & W/V PLATE LH(NV TYPE)

PUMP KAWASAKI K3V112DT-CBA-L-SL CYL.BLOCK & W/V PLATE LH(SLEEVE)

PUMP KAWASAKI K3V112DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K3V112DT-CBA-R-NV CYL.BLOCK & W/V PLATE RH(NV TYPE)

PUMP KAWASAKI K3V112DT-CBA-R-SL CYL.BLOCK & W/V PLATE RH(SLEEVE)

PUMP KAWASAKI K3V112DT-CYB CYLINDER BLOCK NV

PUMP KAWASAKI K3V112DT-PTS PISTON SHOE SET



PUMP KAWASAKI K3V112DT-SPR COIL SPRING(9PCS/SET)

PUMP KAWASAKI K3V112DT-SFT-R SAHFT REAR

PUMP KAWASAKI K3V112DT-SFT-R SAHFT REAR (12TH)

PUMP KAWASAKI K3V112DT-STP SET PLATE

PUMP KAWASAKI K3V112DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI K3V112DT-SFT-F SHAFT FRONT

PUMP KAWASAKI K3V112DT-SHP SHOE PLATE

PUMP KAWASAKI K3V112DT-SPC SPACER

PUMP KAWASAKI K3V112DT-SWP SWASH PLATE & SUPPORT

PUMP KAWASAKI K3V112DT-SWP SWASH PLATE ASSY NEW

PUMP KAWASAKI K3V112DT-BUSH SWASH PLATE BUSH

PUMP KAWASAKI K3V112DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI K3V112DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI K3V140DT-BLG BALL GUIDE

PUMP KAWASAKI K3V140DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K3V140DT-CBA-L-S CYL.BLOCK & W/V PLATE LH(SLEEVE)

PUMP KAWASAKI K3V140DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K3V140DT-CBA-R-S CYL.BLOCK & W/V PLATE RH(SLEEVE)

PUMP KAWASAKI K3V140DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI K3V140DT-SPR COIL SPRING(9PCS/SET)

PUMP KAWASAKI K3V140DT-STP SET PLATE

PUMP KAWASAKI K3V140DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI K3V140DT-SFT-F SHAFT FRONT

PUMP KAWASAKI K3V140DT-SFT-R SHAFT REAR

PUMP KAWASAKI K3V140DT-SFT-R SHAFT REAR 12TH

PUMP KAWASAKI K3V140DT-SHP SHOE PLATE

PUMP KAWASAKI K3V140DT-SPC SPACER

PUMP KAWASAKI K3V140DT-SWP SWASH PLATE & SUPPORT

PUMP KAWASAKI K3V140DT-SWP SWASH PLATE ASSY(NEW)

PUMP KAWASAKI K3V140DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI K3V140DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI K3V140DT-TTP TILTING PIN (2PCS/SET)

PUMP KAWASAKI K3V180DT-SPR COIL SPRING(9PCS/SET)

PUMP KAWASAKI K3V180DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K3V180DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K3V180DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI K3V180DT-PTS-HIGH PISTON SHOE SET(HIGH PRESSURE)

PUMP KAWASAKI K3V180DT-SFT-F SHAFT FRONT 

PUMP KAWASAKI K3V180DT-SFT-F SHAFT FRONT 17TH

PUMP KAWASAKI K3V180DT-SFT-R SHAFT REAR 12TH

PUMP KAWASAKI K3V180DT-SFT-R SHAFT REAR 13TH

PUMP KAWASAKI K3V180DT-SPC SPACER

PUMP KAWASAKI K3V180DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI K3V180DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI K3V180DTH SHAFT FRONT 17TH

PUMP KAWASAKI K3V180DTH SHAFT FRONT 15TH

PUMP KAWASAKI K3V180DTH SHAFT REAR 12TH

PUMP KAWASAKI K3V180DTH SHAFT REAR 13TH

PUMP KAWASAKI K3V280DT-SPR COIL SPRING(9PCS/SET)

PUMP KAWASAKI K3V280DT-CBA-L CYL.BLOCK & W/V PLATE LH



PUMP KAWASAKI K3V280DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K3V280DT-PTS PISTON SHOE SET

PUMP KAWASAKI K3V280DT-PTS(OLD) PISTON SHOE SET(OLD)

PUMP KAWASAKI K3V280DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI K3V280DT-SHP SHOE PLATE

PUMP KAWASAKI K3V280DT-SPC SPACER

PUMP KAWASAKI K3V280DT-SWP SWASH PLATE ASS'Y

PUMP KAWASAKI K3V280DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI K3V280DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI K3V280DT-SFT-L SHAFT LH

PUMP KAWASAKI K3V280DT-SFT-R SHAFT RH

PUMP KAWASAKI K3V280DT-SFT-L10 SHAFT LH 10TH 29242500145

PUMP KAWASAKI K3V280DT-SFT-L13 SHAFT LH 13TH 29242500023

PUMP KAWASAKI K3V63BDT-SWP SWASH PLATE & SUPPORT

PUMP KAWASAKI K3V63DT-BLG BALL GUIDE

PUMP KAWASAKI K3V63DT-BLGS BALL GUIDE(STEEL TYPE)

PUMP KAWASAKI K3V63DT-CBA-L CYL.BLOCK & W/V PLATE LH(NV TYPE)

PUMP KAWASAKI K3V63DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K3V63DT-CBA-R CYL.BLOCK & W/V PLATE RH(NV TYPE)

PUMP KAWASAKI K3V63DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K3V63DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI K3V63DT-STP SET PLATE

PUMP KAWASAKI K3V63DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI K3V63DT-STB-A SET PLATE & BALL GUIDE(STEEL)

PUMP KAWASAKI K3V63DT-SFT-F SHAFT FRONT

PUMP KAWASAKI K3V63DT-SFT-R SHAFT REAR

PUMP KAWASAKI K3V63DT-SFT-R SHAFT REAR 12TH

PUMP KAWASAKI K3V63DT-SHP SHOE PLATE

PUMP KAWASAKI K3V63DT-SPC SPACER

PUMP KAWASAKI K3V63DT-SPR SPRING(9PCS/SET)

PUMP KAWASAKI K3V63DT-SWP SWASH PLATE ASSY

PUMP KAWASAKI K3V63DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI K3V63DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI K5V80DT-PTS PISTON SHOE SET

PUMP KAWASAKI K5V80DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI K5V80DT-STP SET PLATE

PUMP KAWASAKI K5V80DT-BLG BALL GUIDE

PUMP KAWASAKI K5V160 CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K5V160 CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K5V160 PISTON SHOE SET

PUMP KAWASAKI K5V160 VALVE PLATE RH

PUMP KAWASAKI K5V160 VALVE PLATE LH

PUMP KAWASAKI K5V140DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K5V140DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K5V140DT-SPR COIL SPRING

PUMP KAWASAKI K5V140DT-PTS PISTON SHOE SET

PUMP KAWASAKI K5V140DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI K5V140DT-STP SET PLATE



PUMP KAWASAKI K5V140DT-BLG BALL GUIDE(STEEL TYPE)

PUMP KAWASAKI K5V140DT-SFT-R SHAFT FRONT

PUMP KAWASAKI K5V140DT-SFT-L SHAFT REAR

PUMP KAWASAKI K5V140DT-SHP SHOE PLATE

PUMP KAWASAKI K5V140DT-SWP-A SWASH PLATE ASS'Y

PUMP KAWASAKI K5V140DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI K5V140DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI K5V200DTH-BLG BALL GUIDE(STEEL TYPE)

PUMP KAWASAKI K5V200DTH-PTS PISTON SHOE SET

PUMP KAWASAKI K5V200DTH-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K5V200DTH-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K5V200DTH-STB-A SET & BALL GUIDE

PUMP KAWASAKI K5V200DTH-STP SET PLATE

PUMP KAWASAKI K5V200DTH-VLP-R VALVE PLATE RH

PUMP KAWASAKI K5V200DTH-STP-L VALVE PLATE LH

PUMP KAWASAKI K5V200DTH-TTP TILTING PIN (2PCS/SET)

PUMP KAWASAKI K5V212 CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI K5V212 CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI K5V212 PISTON SHOE SET

PUMP KAWASAKI K5V212 SET PLATE & BALL GUIDE

MOTOR KOBELCO K907-Ⅱ-T/M-CYB CYLINDER BLOCK

MOTOR KOBELCO K907-Ⅱ-T/M-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KOBELCO K907-Ⅱ-T/M-STB-A SET PLATE & BALL GUIDE

MOTOR KOBELCO K907-Ⅱ-T/M-VLP VALVE PLATE

PUMP KAWASAKI KVC925-AXL AXLE (2PCS/SET)

PUMP KAWASAKI KVC925-BSH BUSHING (2PCS/SET)

PUMP KAWASAKI KVC925-CYB CYLINDER BLOCK

PUMP KAWASAKI KVC925-SFT DRIVE SHAFT

PUMP KAWASAKI KVC925-GUP GUIDE PIECE

PUMP KAWASAKI KVC925-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI KVC925-STP SET PLATE

PUMP KAWASAKI KVC925-SHP SHOE PLATE

PUMP KAWASAKI KVC925-SWA SWASH PLATE ASSY

PUMP KAWASAKI KVC925-SWP SWASH PLATE BODY

PUMP KAWASAKI KVC925-VLP VALVE PLATE

PUMP KAWASAKI KVC925DP2-VLP VALVE PLATE

PUMP KAWASAKI KVC930-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI KVC932-CYB CYLINDER BLOCK

PUMP KAWASAKI KVC932-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI KVC932-STP SET PLATE

PUMP KAWASAKI KVC932-SHP SHOE PLATE

PUMP KAWASAKI KVC932-VLP VALVE PLATE

PUMP LINDE LPVD64-BLG BALL GUIDE

PUMP LINDE LPVD64-CBA-LH CYL.BLOCK & W/V PLATE LH

PUMP LINDE LPVD64-CBA-RH CYL.BLOCK & W/V PLATE RH

PUMP LINDE LPVD64-CYB CYLINDER BLOCK



PUMP LINDE LPVD64-PTS PISTON SHOE SET(9PCS/SET)

PUMP LINDE LPVD64-STP SET PLATE

PUMP LINDE LPVD64-SHP SHOE PLATE

PUMP LINDE LPVD64-SPR SPRING

PUMP LINDE LPVD64-VLP-LH VALVE PLATE LH

PUMP LINDE LPVD64-VLP-RH VALVE PLATE RH

PUMP LINDE LPVD125 PISTON SHOE SET

PUMP LINDE LPVD125 CYL.BLOCK & W/V PLATE

PUMP LINDE LPVD125 SET PLATE & BALL GUIDE

PUMP LINDE LPVD125 WASHER

MOTOR KAWASAKI M2X120-BLG BALL GUIDE

MOTOR KAWASAKI M2X120-CYB CYLINDER BLOCK 

MOTOR KAWASAKI M2X120-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAWASAKI M2X120-PRD PUSH ROD(12PCS/SET)

MOTOR KAWASAKI M2X120-STP SET PLATE

MOTOR KAWASAKI M2X120-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI M2X120-SFT SHAFT

MOTOR KAWASAKI M2X120-SHP SHOE PLATE 

MOTOR KAWASAKI M2X120-SPC SPACER

MOTOR KAWASAKI M2X120-VLP VALVE PLATE

MOTOR KAWASAKI M2X146-BLG BALL GUIDE

MOTOR KAWASAKI M2X146-CYB CYLINDER BLOCK

MOTOR KAWASAKI M2X146-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAWASAKI M2X146-PRD PUSH ROD (12PCS/SET)

MOTOR KAWASAKI M2X146-STP SET PLATE

MOTOR KAWASAKI M2X146-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI M2X146-SFT SHAFT

MOTOR KAWASAKI M2X146-SHP SHOE PLATE

MOTOR KAWASAKI M2X146-VLP VALVE PLATE

MOTOR KAWASAKI M2X146-WSH SPRING SEAT

MOTOR KAWASAKI M2X146-WSH WASHER

MOTOR KAWASAKI M2X170-BLG BALL GUIDE

MOTOR KAWASAKI M2X170-CYB-CAT CYLINDER BLOCK(23mm)

MOTOR KAWASAKI M2X170-CYB-MOT CYLINDER BLOCK(18mm)

MOTOR KAWASAKI M2X170-PRD PIN (12PCS/SET)

MOTOR KAWASAKI M2X170-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAWASAKI M2X170-STP SET PLATE 

MOTOR KAWASAKI M2X170-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI M2X170-SFT SHAFT

MOTOR KAWASAKI M2X170-SHP SHOE PLATE

MOTOR KAWASAKI M2X170-SPC SPACER

MOTOR KAWASAKI M2X170-VLP VALVE PLATE

MOTOR KAWASAKI M2X170-WSH WASHER (BALL GUIDE)

MOTOR KAWASAKI M2X170-WSH WASHER (CYB) 2PCS/SET

MOTOR KAWASAKI M2X210-BLG BALL GUIDE

MOTOR KAWASAKI M2X210-CYB-CAT CYLINDER BLOCK(23mm)

MOTOR KAWASAKI M2X210-CYB-MOT CYLINDER BLOCK(18mm)

MOTOR KAWASAKI M2X210-PIN PIN



MOTOR KAWASAKI M2X210-PTS PISTON SHOE SET

MOTOR KAWASAKI M2X210-STP SET PLATE 

MOTOR KAWASAKI M2X210-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI M2X210-SFT SHAFT

MOTOR KAWASAKI M2X210-SHP SHOE PLATE

MOTOR KAWASAKI M2X210-VLP VALVE PLATE

MOTOR KAWASAKI M2X210-VLP-B VALVE PLATE(B)

MOTOR KAWASAKI M2X210-VLP-HRD VALVE PLATE(HRD TYPE)

MOTOR KAWASAKI M2X210-WSH-BLG WASHER(BALL GUIDE)

MOTOR KAWASAKI M2X22-CYB CYLINDER BLOCK

MOTOR KAWASAKI M2X22-VLP VALVE PLATE

MOTOR KAWASAKI M2X22-PTS PISTON SHOE SET

MOTOR KAWASAKI M2X22-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI M2X55-CYB CYLINDER BLOCK

MOTOR KAWASAKI M2X55-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAWASAKI M2X55-PRD PUSH ROD(12PCS/SET)

MOTOR KAWASAKI M2X55-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI M2X55-SHP SHOE PLATE

MOTOR KAWASAKI M2X55-VLP VALVE PLATE

MOTOR KAWASAKI M2X63-CYB CYLINDER BLOCK

MOTOR KAWASAKI M2X63-VLP VALVE PLATE

MOTOR KAWASAKI M2X63-SPC SPACER

MOTOR KAWASAKI M2X96-BLG BALL GUIDE

MOTOR KAWASAKI M2X96-CYB CYLINDER BLOCK

MOTOR KAWASAKI M2X96-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAWASAKI M2X96-PRD PUSH ROD

MOTOR KAWASAKI M2X96-STP SET PLATE

MOTOR KAWASAKI M2X96-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI M2X96-SHP SHOE PLATE

MOTOR KAWASAKI M2X96-SPC SPACER

MOTOR KAWASAKI M2X96-VLP VALVE PLATE

MOTOR KAWASAKI M5X130-CYB CYLINDER BLOCK



MOTOR KAWASAKI M5X130-PTS PISTON SHOE SET

MOTOR KAWASAKI M5X130-SHP SHOE PLATE

MOTOR KAWASAKI M5X130-STP SET PLATE

MOTOR KAWASAKI M5X130-STP SPRING OF SET PLATE

MOTOR KAWASAKI M5X130-VLP VALVE PLATE

MOTOR KAWASAKI M5X130-SFT SHAFT

MOTOR KAWASAKI M5X180-CYB CYLINDER BLOCK

MOTOR KAWASAKI M5X180-PTS PISTON SHOE SET

MOTOR KAWASAKI M5X180-STP SET PLATE

MOTOR KAWASAKI M5X180-STP SPRING OF SET PLATE

MOTOR KAWASAKI M5X180-SHP SHOE PLATE

MOTOR KAWASAKI M5X180-VLP VALVE PLATE

MOTOR KAWASAKI M5X180-SFT SHAFT

PUMP SAUER SUNDSTRAND M46-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M46-PTS PISTON SHOE SET(7PCS/SET)

PUMP SAUER SUNDSTRAND M46-STB-A SET PLATE & BALL GUIDE

PUMP SAUER SUNDSTRAND M46-VLP-M VALVE PLATE MOTOR

PUMP SAUER SUNDSTRAND M46-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M46-VLP-R VALVE PLATE RH

PUMP SAUER SUNDSTRAND M46-PRD PUSH ROD

PUMP SAUER SUNDSTRAND M46-GRIP GRIP

MOTOR KAYABA MAG150-CYB CYLINDER BLOCK

MOTOR KAYABA MAG150-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAYABA MAG150-STB-A SET PLATE & BALL GUIDE

MOTOR KAYABA MAG150-SWP SWASH PLATE

MOTOR KAYABA MAG150-VLP VALVE PLATE

MOTOR TOSHIBA MFB160-PTS PISTON SHOE SET(9PCS/SET)

MOTOR TOSHIBA MFB160-PTS-NEW PISTON SHOE SET(9PCS/SET) NEW TYPE

MOTOR TOSHIBA MFB160-STP SET PLATE

MOTOR TOSHIBA MFB160-STP-NEW SET PLATE (NEW)

MOTOR TOSHIBA MFB160-VLP VALVE PLATE

MOTOR TOSHIBA MFB160-VLP-2H VALVE PLATE(2HOLES)

MOTOR TOSHIBA MFB160-VLP-4H VALVE PLATE (4HOLES)

MOTOR TOSHIBA MFB160-VLP CUP SPRING

MOTOR TOSHIBA MFB160-CYB CYLINDER BLOCK

MOTOR TOSHIBA MFB160-SHP SHOE PLATE

MOTOR TOSHIBA MFC040 S/M CYLINDER BLOCK

MOTOR TOSHIBA MFC040 S/M CUP SPRING

MOTOR TOSHIBA MFC040 S/M PISTON SHOE SET(7PCS/SET)

MOTOR TOSHIBA MFC040 S/M SET PLATE

MOTOR TOSHIBA MFC040 S/M SHOE PALTE

MOTOR TOSHIBA MFC040 S/M VALVE PLATE

MOTOR TOSHIBA MFC160 PISTON SHOE(NEW)

MOTOR TOSHIBA MFC065-PTS PISTON SHOE SET

MOTOR TOSHIBA MFC065-STP SET PLATE

MOTOR TOSHIBA MFC065-VLP VALVE PLATE

MOTOR TOSHIBA MFC065-CYB CYLINDER BLOCK



MOTOR TOSHIBA MFC065-SHP SHOE PLATE

MOTOR TOSHIBA MFC065-C-SPR CUP SPRING

MOTOR TOSHIBA MFB80-S/M-PTS PISTON SHOE SET(9PCS/SET)

MOTOR TOSHIBA MFB80-S/M-PTS-NEW PISTON SHOE SET(NEW)

MOTOR TOSHIBA MFB80-S/M-STP SET PLATE

MOTOR TOSHIBA MFB80-S/M-CUP CUP SPRING

MOTOR TOSHIBA MFB80-S/M-VLP VALVE PLATE

MOTOR TOSHIBA MFB80-S/M-CYB CYLINDER BLOCK

MOTOR TOSHIBA MFB80-S/M-CYB-NEW CYLINDER BLOCK(NEW)

MOTOR TOSHIBA MFB80-SHP SHOE PLATE

MOTOR TOSHIBA MFB80-S/M SET PLATE

MOTOR TOSHIBA MFB81-S/M SHOE PLATE

MOTOR TOSHIBA MFC160-PTS PISTON SHOE SET

PUMP MITSUBISHI MS160-M/P-PTS PISTON SHOE SET (7PCS)

PUMP MITSUBISHI MS180-3N-M/P-BLG BALL RETAINER

PUMP MITSUBISHI MS180-3N-M/P-CYB DRUM

PUMP MITSUBISHI MS180-3N-M/P-DMS DRUM SEAL (9PCS/SET)

PUMP MITSUBISHI MS180-3N-M/P-CYB(10mm) DRUM(10mm)

PUMP MITSUBISHI MS180-3N-GVP-BIG GOVERNOR (BIG)

PUMP MITSUBISHI MS180-3N-GVP-SMALL GOVERNOR (SMALL)

PUMP MITSUBISHI MS180-3N-M/P-SHP INDEX PLATE

PUMP MITSUBISHI MS180-3N-M/P-PTS PISTON SHOE SET(9PCS/SET)

PUMP MITSUBISHI MS180-3N-M/P-BRP-L PORT PLATE LH

PUMP MITSUBISHI MS180-3N-M/P-BRP-R PORT PLATE RH

PUMP MITSUBISHI MS180-3N-M/P-STP RETAINER

PUMP MITSUBISHI MS180-3N-M/P-STP-A SET PLATE & BALL GUIDE

PUMP MITSUBISHI MS180-3N-M/P-SFT-L SHAFT LH

PUMP MITSUBISHI MS180-3N-M/P-SFT-R SHAFT RH

PUMP MITSUBISHI MS180-3N-M/P-VLP VALVE PLATE

PUMP MITSUBISHI MS180-3O-M/P-BLG BALL RETAINER

PUMP MITSUBISHI MS180-3O-M/P-CYB CYLINDER BLOCK

PUMP MITSUBISHI MS180-3O-M/P-SHP INDEX PLATE

PUMP MITSUBISHI MS180-3O-M/P-PTS PISTON SHOE SET(7PCS/SET)

PUMP MITSUBISHI MS180-3O-M/P-BRP PORT PLATE(BEARING PLATE OLD)

PUMP MITSUBISHI MS180-3O-M/P-STP RETAINER

PUMP MITSUBISHI MS180-3O-M/P-STP-A SET PLATE & BALL GUIDE

PUMP MITSUBISHI MS180-8-S/M-CBA CYL.BLOCK & W/V PLATE

PUMP MITSUBISHI MS180-8-S/M-PTS PISTON SHOE SET(9PCS/SET)

PUMP MITSUBISHI MS180-8-S/M-STB-A SET PLATE & BALL GUIDE

PUMP MITSUBISHI MS180-8 S/M-SFT SHAFT

PUMP MITSUBISHI MS180-8-S/M-SHP SHOE PLATE

PUMP MITSUBISHI MS180-M/P-BLG BALL RETAINER

PUMP MITSUBISHI MS180-M/P-CYB CYLINDER BLOCK

PUMP MITSUBISHI MS180-M/P-SHP INDEX PLATE

PUMP MITSUBISHI MS180-M/P-PTS PISTON SHOE SET(7PCS/SET)

PUMP MITSUBISHI MS180-M/P-BRP PORT PLATE



PUMP MITSUBISHI MS180-M/P-STP RETAINER

PUMP MITSUBISHI MS230-M/P-CYB CYLINDER BLOCK(SLEEVE)

PUMP MITSUBISHI MS300-8-SWP SWASH PLATE(OIL HOLE OPPOSITE)

PUMP MITSUBISHI MS450-8-SWP SWASH PLATE

MOTOR KAYABA MSF270-CBA CYL.BLOCK & W/V PLATE

MOTOR KAYABA MSF270-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAYABA MSF270-STB-A SET PLATE & BALL GUIDE

MOTOR KAYABA MSF340-CBA CYLINDER BLOCK & VALVE PLATE

MOTOR KAYABA MSF340-PTS PISTON SHOE SET

MOTOR KAYABA MSF340-STB-A SET PLATE & BALL GUIDE

MOTOR KAYABA MSF340-SWP SWASH PLATE

MOTOR KAYABA MSF340-SFT SHAFT

MOTOR KAYABA MSF340-SPR SPRING

MOTOR KAYABA MSF-52P-CBA CYLINDER BLOCK & VALVE PLATE

MOTOR KAYABA MSF-52P-PTS PISTON SHOE SET

MOTOR KAYABA MSF-52P-STB-A SET PLATE & BALL GUIDE

MOTOR KAYABA MSF-52P-SHP SHOE PLATE

MOTOR KAYABA MSF-52P-WSH WASHER

MOTOR KAYABA MSF-59 CYL.BLOCK & W/V PLATE

MOTOR KAYABA MSF-59 PISTON SHOE SET

MOTOR KAYABA MSF-59 SET PLATE & BALL GUIDE

MOTOR KAYABA MSF-59 SHOE PLATE

MOTOR KAYABA MSF-59 WASHER

PUMP SAMSUNG MX03-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAMSUNG MX03-STB-A SET PLATE & BALL GUIDE

PUMP SAMSUNG MX03-VLP VALVE PLATE

PUMP SAMSUNG MX55-VLP VALVE PLATE

MOTOR KAWASAKI MX173-CBA CYL.BLOCK & W/V PLATE

MOTOR KAWASAKI MX173-CYB CYLINDER BLOCK

MOTOR KAWASAKI MX173-SFT DRIVE SHAFT

MOTOR KAWASAKI MX173-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAWASAKI MX173-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI MX173-STP SET PLATE

MOTOR KAWASAKI MX173-BLG BALL GUIDE

MOTOR KAWASAKI MX173-SHP SHOE PLATE

MOTOR KAWASAKI MX173-VLP VALVE PLATE

MOTOR KAWASAKI MX80-CBA CYL.BLOCK & W/V PLATE

MOTOR KAWASAKI MX80-VLP VALVE PLATE

MOTOR KAWASAKI MX80-PTS PISTON SHOE SET

MOTOR KAWASAKI MX80-STB-A SET PLATE & BALL GUIDE



PUMP KAWASAKI NV111DT-BLG BALL GUIDE

PUMP KAWASAKI NV111DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI NV111DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI NV111DT-SPR DISC SPRING

PUMP KAWASAKI NV111DT-STP SET PLATE

PUMP KAWASAKI NV111DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI NV111DT-SFT-F SHAFT (FRONT)

PUMP KAWASAKI NV111DT-SFT-R SHAFT (REAR) 12TH

PUMP KAWASAKI NV111DT-SFT-R SHAFT (REAR) 13TH

PUMP KAWASAKI NV111DT-SWP SWASH PLATE

PUMP KAWASAKI NV111DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI NV111DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI NV137-CBA CYL.BLOCK & W/VALVE PLATE

PUMP KAWASAKI NV137-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI NV137DT-BLG BALL GUIDE

PUMP KAWASAKI NV137DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI NV137DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI NV137DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI NV137DT-STP SET PLATE

PUMP KAWASAKI NV137DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI NV137DT-SFT-R(12T) SHAFT LH 12T

PUMP KAWASAKI NV137DT-SFT-R(13T) SHAFT LH 13T

PUMP KAWASAKI NV137DT-SFT-F SHAFT RH

PUMP KAWASAKI NV137DT-SWP SWASH PLATE

PUMP KAWASAKI NV137DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI NV137DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI NV172DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI NV172DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI NV172DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI NV172DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI NV172DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI NV270-CBA CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI NV270-SPR DISC SPRING

PUMP KAWASAKI NV270-PCS PISTON

PUMP KAWASAKI NV270-PTS PISTON SHOE SET (9PCS)

PUMP KAWASAKI NV270-STB SET PLATE

PUMP KAWASAKI NV270-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI NV270-SFT SHAFT

PUMP KAWASAKI NV270-SWP SWASH PLATE

PUMP KAWASAKI NV270-VLP-L VALVE PLATE LH

PUMP KAWASAKI NV64DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI NV64DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI NV64DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI NV64DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI NV64DT-SWP SWASH PLATE

PUMP KAWASAKI NV70DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI NV80DT-PTS PISTON SHOE SET(9PCS/SET)



PUMP KAWASAKI NV84DT-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAWASAKI NV84DT-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAWASAKI NV84DT-MTB METAL BUSHING

PUMP KAWASAKI NV84DT-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAWASAKI NV84DT-STB-A SET PLATE & BALL GUIDE

PUMP KAWASAKI NV84DT-SWP-OLD SWASH PLATE OLD WITH 2 METAL

PUMP KAWASAKI NV84DT-SWP-OLD SWASH PLATE OLD(WITHOUT METAL)

PUMP KAWASAKI NV84DT-VLP-L VALVE PLATE LH

PUMP KAWASAKI NV84DT-VLP-R VALVE PLATE RH

PUMP KAWASAKI NV84DT-STP SET PLATE

PUMP KAWASAKI NV84DT-BLG BALL GUIDE

MOTOR KAWASAKI NVK45DT-CBA-L CYL.BLOCK & W/V PLATE LH

MOTOR KAWASAKI NVK45DT-CBA-R CYL.BLOCK & W/V PLATE RH

MOTOR KAWASAKI NVK45DT-CYB CYLINDER BLOCK

MOTOR KAWASAKI NVK45DT-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KAWASAKI NVK45DT-PIN PUSH ROD(6PCS/SET)

MOTOR KAWASAKI NVK45DT-STB-A SET PLATE & BALL GUIDE

MOTOR KAWASAKI NVK45DT-BLG BALL GUIDE

MOTOR KAWASAKI NVK45DT-STP SET PLATE

MOTOR KAWASAKI NVK45DT-SFT SHAFT

MOTOR KAWASAKI NVK45DT-SHP SHOE PLATE

MOTOR KAWASAKI NVK45DT-VLP-L VALVE PLATE LH

MOTOR KAWASAKI NVK45DT-VLP-R VALVE PLATE RH

PUMP DENISON P6P-BRP BEARING PLATE

PUMP DENISON P6P-PTS PISTON SHOE SET(7PCS/SET)

PUMP DENISON P6P-STP SET PLATE

PUMP DENISON P6P-SHP SHOE PLATE

PUMP DENISON P6P-VLP VALVE PLATE

PUMP KOMATSU PC120-3/5-M/P-SUP-L CRADLE LH

PUMP KOMATSU PC120-3/5-M/P-SUP-R CRADLE RH

PUMP KOMATSU PC120-3/5-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC120-3/5-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC120-3/5-M/P-CYB CYLINDER BLOCK

PUMP KOMATSU PC120-3/5-M/P-PTS PISTON SHOE SET(9PCS/SET)

PUMP KOMATSU PC120-3/5-M/P-STP RETAINER (SET PLATE)

PUMP KOMATSU PC120-3/5-M/P-SWP SWASH PLATE

PUMP KOMATSU PC120-3/5-M/P-VLP-L VALVE PLATE LH

PUMP KOMATSU PC120-3/5-M/P-VLP-R VALVE PLATE RH

PUMP KOMATSU PC200-2-M/P-CYB CYLINDER BLOCK

PUMP KOMATSU PC200-2-M/P-PTS PISTON (7PCS/SET)

PUMP KOMATSU PC200-2-M/P-PTS PISTON SHOE SET(7PCS/SET)

PUMP KOMATSU PC200-2-M/P-STP SET PLATE

PUMP KOMATSU PC200-2-M/P-VLP VALVE PLATE

PUMP KOMATSU PC200-2-T/M-CYB CYLINDER BLOCK

PUMP KOMATSU PC200-2-T/M-PTS PISTON (7PCS/SET)

PUMP KOMATSU PC200-2-T/M-PTS PISTON SHOE SET(7PCS/SET)

PUMP KOMATSU PC200-2-T/M-STP SET PLATE

PUMP KOMATSU PC200-2-T/M-VLP-42740 VALVE PLATE 10T



PUMP KOMATSU PC200-2-T/M-VLP-40841 VALVE PLATE 14T

PUMP KOMATSU PC200-3-M/P-CMR CAM ROCKER (SWASH)

PUMP KOMATSU PC200-3-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC200-3-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC200-3-M/P-CYB CYLINDER BLOCK

PUMP KOMATSU PC200-3-M/P-SFT-L DRIVE SHAFT LH

PUMP KOMATSU PC200-3-M/P-SFT-R DRIVE SHAFT RH

PUMP KOMATSU PC200-3-M/P-PTS PISTON SHOE SET(9PCS/SET)

PUMP KOMATSU PC200-3-M/P-STP RETAINER SHOE

PUMP KOMATSU PC200-3-M/P-SUP-FF SUPPORT (FRONT)

PUMP KOMATSU PC200-3-M/P-SUP-RR SUPPORT (REAR)

PUMP KOMATSU PC200-3-M/P-VLP-L VALVE PLATE LH

PUMP KOMATSU PC200-3-M/P-VLP-R VALVE PLATE RH

PUMP KOMATSU PC200-5-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC200-5-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC200-5-M/P-SFT-R SHAFT LH

PUMP KOMATSU PC200-5-M/P-SFT-F SHAFT RH

PUMP KOMATSU PC200-5-M/P-VLP-L VALVE PLATE LH

PUMP KOMATSU PC200-5-M/P-VLP-R VALVE PLATE RH

MOTOR KOMATSU PC200-5-T/M-CYB CYLINDER BLOCK

PUMP KOMATSU PC200-6-BLG BALL GUIDE

PUMP KOMATSU PC200-6-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC200-6-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC200-6-PTS PISTON SHOE SET(9PCS/SET)

PUMP KOMATSU PC200-6-STP SET PLATE

PUMP KOMATSU PC200-6-STB-A SET PLATE & BALL GUIDE

PUMP KOMATSU PC200-6-SUP(NEW) SUPPORT NEW

PUMP KOMATSU PC200-6-SUP(OLD) SUPPORT OLD

PUMP KOMATSU PC200-6-SWP(OLD) SWASH PLATE (OLD TYPE)

PUMP KOMATSU PC200-6-SWP(NEW) SWASH PLATE (NEW TYPE)

PUMP KOMATSU PC200-6-SWP-A(OLD) SWASH PLATE ASSY (OLD TYPE)

PUMP KOMATSU PC200-6-SWP SWASH PLATE ASSY

PUMP KOMATSU PC200-6-VLP-LH VALVE PLATE LH

PUMP KOMATSU PC200-6-VLP-RH VAVLE PLATE RH

PUMP KOMATSU PC200-6 T/M PIN

PUMP KOMATSU PC200-6 T/M CAM ROCKER(SWASH PLATE)

PUMP KOMATSU PC200-6 T/M PISTON SHOE SET

PUMP KOMATSU PC200-6 T/M CYLINDER BLOCK

PUMP KOMATSU PC200-6 T/M VALVE PLATE

PUMP KOMATSU PC200-6 T/M SET PLATE & BALL GUIDE

PUMP KOMATSU PC200-7-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC200-7-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC200-7-PIN PIN

PUMP KOMATSU PC200-7-VLP-L VALVE PLATE LH

PUMP KOMATSU PC200-7-VLP-R VALVE PLATE RH

PUMP KOMATSU PC200-7-STP SET PLATE

PUMP KOMATSU PC200-7-STB-A SET PLATE & BALL GUIDE

PUMP KOMATSU PC200-7-STB-A SET PLATE & BALL GUIDE



PUMP KOMATSU PC200-7-SWP SWASH PLATE (NEW)

PUMP KOMATSU PC200-8-SWP SWASH PLATE ASSY

PUMP KOMATSU PC200-8 CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC200-8 CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC300/400-COLLAR COLLAR

PUMP KOMATSU PC300/400-SWP SWASH PLATE

PUMP KOMATSU PC300-3-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC300-3-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC300-3/5-CYB CYLINDER BLOCK

PUMP KOMATSU PC300-3/5-M/P-PTS PISTON SHOE SET(9PCS/SET)

PUMP KOMATSU PC300-3/5-M/P-STP RETAINER SHOE

PUMP KOMATSU PC300-3-VLP-L VALVE PLATE LH

PUMP KOMATSU PC300-3-VLP-R VALVE PLATE RH

PUMP KOMATSU PC300-5-M/P-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC300-5-M/P-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC300-5-M/P-SFT-L SHAFT LH

PUMP KOMATSU PC300-5-M/P-SFT-R SHAFT RH

PUMP KOMATSU PC300-5-M/P-SUP SUPPORT LH

PUMP KOMATSU PC300-5-M/P-SUP SUPPORT RH

PUMP KOMATSU PC300-5-M/P-SWP SWASH PLATE

PUMP KOMATSU PC300-5-VLP-L VALVE PLATE LH

PUMP KOMATSU PC300-5-VLP-R VALVE PLATE RH

PUMP KOMATSU PC300-6-CYB-LH CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC300-6-CYB-RH CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC300-6-CYB CYLINDER BLOCK

PUMP KOMATSU PC300-6-VLP-L VALVE PLATE LH

PUMP KOMATSU PC300-6-VLP-R VALVE PLATE RH

PUMP KOMATSU PC300-6-PTS PISTON SHOE SET(9PCS/SET)

PUMP KOMATSU PC300-6-STB-A SET PLATE & BALL GUIDE

PUMP KOMATSU PC300-6-STB SET PLATE

PUMP KOMATSU PC300-6-BLG BALL GUIDE

PUMP KOMATSU PC300-6-SWP SWASH PLATE

PUMP KOMATSU PC300-6-SUP SUPPORT

PUMP KOMATSU PC300-7-CYB-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC300-7-CYB-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC300-7-PTS PISTON SHOE SET

PUMP KOMATSU PC300-7-STB-A SET PLATE & BALL GUIDE

PUMP KOMATSU PC300-7-STP SET PLATE

PUMP KOMATSU PC300-7-SWP SWASH PLATE

PUMP KOMATSU PC300-7-SUP SUPPORT

PUMP KOMATSU PC300-7-BLG BALL GUIDE

PUMP KOMATSU PC300-7-SWP-A SWASH PLATE ASSY

PUMP KOMATSU PC300-7-PIN PIN

PUMP KOMATSU PC450-7-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC450-7-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC450-7-CYB CYLINDER BLOCK



PUMP KOMATSU PC450-7-PTS PISTON SHOE SET

PUMP KOMATSU PC450-7-STP SET PLATE

PUMP KOMATSU PC450-7-BLG BALL GUIDE

PUMP KOMATSU PC450-7-SUP SUPPORT

PUMP KOMATSU PC450-7-SWP SWASH PLATE

PUMP KOMATSU PC60-5-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KOMATSU PC60-5-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC60-5-CYB CYLINDER BLOCK

PUMP KOMATSU PC60-5-PTS PISTON SHOE SET(9PCS/SET)

PUMP KOMATSU PC60-5-STP RETAINER SHOE (SET PLATE)

PUMP KOMATSU PC60-5-SUP-L SUPPORT LH

PUMP KOMATSU PC60-5-SUP-R SUPPORT RH

PUMP KOMATSU PC60-5-SWP SWASH PLATE

PUMP KOMATSU PC60-5-VLP-L VALVE PLATE LH

PUMP KOMATSU PC60-5-VLP-R VALVE PLATE RH

PUMP KOMATSU PC71 PISTON SHOE SET

PUMP KOMATSU PC71 SET PLATE & BALL GUIDE

PUMP KOMATSU PC71 VALVE PLATE RH

PUMP KOMATSU PC71 CAM ROCKER

PUMP KOMATSU PC71 CRADLE

PUMP KOMATSU PC71 CYL.BLOCK & W/V PLATE RH

PUMP KOMATSU PC71 PUSH ROD

PUMP KAYABA PSV2-55T-BLG BALL GUIDE

PUMP KAYABA PSV2-55T-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAYABA PSV2-55T-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAYABA PSV2-55T-CYB CYLINDER BLOCK

PUMP KAYABA PSV2-55T-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAYABA PSV2-55T-STP RETAINER PLATE

PUMP KAYABA PSV2-55T-STP-A SET PLATE & BALL GUIDE

PUMP KAYABA PSV2-55T-SHIM SHIM

PUMP KAYABA PSV2-55T-VLP-L VALVE PLATE LH

PUMP KAYABA PSV2-55T-VLP-R VALVE PLATE RH

PUMP KAYABA PSV2-60T-BLG BALL GUIDE

PUMP KAYABA PSV2-60T-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAYABA PSV2-60T-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAYABA PSV2-60T-CYB CYLINDER BLOCK

PUMP KAYABA PSV2-60T-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAYABA PSV2-60T-STP RETAINER PLATE

PUMP KAYABA PSV2-60T-STB-A SET PLATE & BALL GUIDE

PUMP KAYABA PSV2-60T-SHIM SHIM

PUMP KAYABA PSV2-60T-VLP-L VALVE PLATE LH

PUMP KAYABA PSV2-60T-VLP-R VALVE PLATE RH

PUMP KAYABA PSV2-63-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP KAYABA PSV2-63-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP KAYABA PSV2-63-PTS PISTON SHOE SET(9PCS/SET)

PUMP KAYABA PSV2-63-STB-A SET PLATE & BALL GUIDE

PUMP KAYABA PSV2-63T-STP SET PLATE



PUMP KAYABA PSVD2-21-BLG BALL GUIDE

PUMP KAYABA PSVD2-21-PTS PISTON SHOE SET

PUMP KAYABA PSVD2-21-STB-A SET PLATE & BALL GUIDE

PUMP KAYABA PSVD2-21-STP SET PLATE

PUMP KAYABA PSVD2-21-CYB CYLINDER BLOCK

PUMP KAYABA PSVD2-21-VLP VALVE PLATE

PUMP KAYABA PSVD2-21-VLP-NEW VALVE PLATE(NEW)

PUMP KAYABA PSVD2-21-PIN PIN

PUMP KAYABA PSVK2-25-PTS PISTON SHOE SET

PUMP KAYABA PSVK2-25-STB-A SET PLATE & BALL GUIDE

PUMP KAYABA PSVK2-25-STP SET PLATE

PUMP KAYABA PSVK2-25-BLG BALL GUIDE

PUMP KAYABA PSVK2-25-CYB CYLINDER BLOCK

PUMP KAYABA PSVK2-25-VLP-L VALVE PLATE LH

PUMP KAYABA PSVK2-25-VLP-R VALVE PLATE RH

PUMP KAYABA PSVK2-25-PIN PIN

PUMP DAIKIN SUNDSTRAND PV16A/MF16A PISTON SHOE SET

PUMP DAIKIN SUNDSTRAND PV16A/MF16A SET PLATE

PUMP DAIKIN SUNDSTRAND PV16A/MF16A CYLINDER BLOCK

PUMP DAIKIN SUNDSTRAND PV16A/MF16A VALVE PLATE LH

PUMP DAIKIN SUNDSTRAND PV16A/MF16A VALVE PLATE RH

PUMP DAIKIN SUNDSTRAND PV16A/MF16A VALVE PLATE MOTOR

PUMP DAIKIN SUNDSTRAND PV16A/MF16A SHOE PLATE

PUMP Bosch Rexroth PV119-CYB CYLINDER BLOCK

PUMP Bosch Rexroth PV119-SHP THRUST PLATE

PUMP Bosch Rexroth PV119-VLP-L VALVE PLATE LH

PUMP Bosch Rexroth PV119-VLP-R VALVE PLATE RH

PUMP DAIKIN SUNDSTRAND PVD21-BLG BALL GUIDE

PUMP DAIKIN SUNDSTRAND PVD21-BRP BEARING PLATE

PUMP DAIKIN SUNDSTRAND PVD21-SPR BLOCK SPRING

PUMP DAIKIN SUNDSTRAND PVD21-CYB CYLINDER BLOCK

PUMP DAIKIN SUNDSTRAND PVD21-PTS PISTON SHOE SET(9PCS/SET)

PUMP DAIKIN SUNDSTRAND PVD21-STP SET PLATE

PUMP DAIKIN SUNDSTRAND PVD21-SFT SHAFT

PUMP DAIKIN SUNDSTRAND PVD21-SHP SHOE PLATE

PUMP DAIKIN SUNDSTRAND PVD21-VLP-L VALVE PLATE LH

PUMP DAIKIN SUNDSTRAND PVD21-VLP-R VALVE PLATE RH

PUMP DAIKIN SUNDSTRAND PVD22-BLG BALL RETAINER

PUMP DAIKIN SUNDSTRAND PVD22-BRP BEARING PLATE

PUMP DAIKIN SUNDSTRAND PVD22-CYB CYLINDER BLOCK

PUMP DAIKIN SUNDSTRAND PVD22-SHP INDEX PLATE

PUMP DAIKIN SUNDSTRAND PVD22-MCS MECHANICAL SEAL

PUMP DAIKIN SUNDSTRAND PVD22-PTS PISTON SHOE SET(9PCS/SET)

PUMP DAIKIN SUNDSTRAND PVD22-STP SET PLATE

PUMP DAIKIN SUNDSTRAND PVD22-SFT-LH SHAFT LH

PUMP DAIKIN SUNDSTRAND PVD22-SFT-RH SHAFT RH

PUMP DAIKIN SUNDSTRAND PVD22-VLP-L-8.5 VALVE PLATE LH (8.5) CW

PUMP DAIKIN SUNDSTRAND PVD22-VLP-L-117 VALVE PLATE LH CW-117



PUMP DAIKIN SUNDSTRAND PVD22-VLP-R-8.5 VALVE PLATE RH (8.5) CCW

PUMP DAIKIN SUNDSTRAND PVD22-VLP-R-444 VALVE PLATE RH CCW-444

PUMP NACHI PVD2B-32L-CYB CYLINDER BLOCK

PUMP NACHI PVD2B-32L-BSH METAL BUSHING (2PCS/SET)

PUMP NACHI PVD2B-32L-PTS PISTON SHOE SET(10PCS/SET)

PUMP NACHI PVD2B-32L(AX30)-STB-A SET PLATE & BALL GUIDE

PUMP NACHI PVD2B-32L-SWP SWASH PLATE

PUMP NACHI PVD2B-32L-VLP VALVE  PLATE

PUMP NACHI PVD2B-36L-CYB CYLINDER BLOCK

PUMP NACHI PVD2B-36L(AX30Ⅱ)-BSH METAL BUSHING (2PCS/SET)

PUMP NACHI PVD2B-36L-PTS PISTON SHOE SET(10PCS/SET)

PUMP NACHI PVD2B-36L(AX30Ⅱ)-STB-A SET PLATE & BALL GUIDE

PUMP NACHI PVD2B-36L-SWP SWASH PLATE

PUMP NACHI PVD2B-36L-VLP VALVE  PLATE

PUMP NACHI PVD2B-42L(EX40)-CYB CYLINDER BLOCK

PUMP NACHI PVD2B-42L(EX40)-PTS PISTON SHOE SET(10PCS/SET)

PUMP NACHI PVD2B-42L(EX40)-STB-A SET PLATE & BALL GUIDE

PUMP NACHI PVD2B-42L(EX40)-VLP VALVE PLATE

PUMP NACHI PVD3B-54P-SPR COIL SPRING

PUMP NACHI PVD3B-54P-CYB CYL.BLOCK & W/V PLATE

PUMP NACHI PVD3B-54P-PTS PISTON SHOE SET(10PCS/SET)

PUMP NACHI PVD3B-54P-PRT PORT PLATE

PUMP NACHI PVD3B-54P-STP-A SET PLATE & BALL GUIDE

PUMP NACHI PVD3B-54P-SFT SHAFT

PUMP NACHI PVD3B-54P-SPC SPACER

PUMP NACHI PVD3B-54P-SWP SWASH PLATE

PUMP NACHI PVD3B-60L-CYB CYLINDER BLOCK

PUMP NACHI PVD3B-60L-PTS PISTON SHOE SET(10PCS/SET)

PUMP NACHI PVD3B-60L-STB-A SET PLATE & BALL GUIDE

PUMP NACHI PVD3B-60L-VLP VALVE PLATE

PUMP NACHI PVD3B-60L-MET METAL BEARING

PUMP VICKERS PVH131 CYLINDER BLOCK

PUMP VICKERS PVH131 PISTON SHOE SET(9PCS/SET)

PUMP VICKERS PVH131 SET PLATE

PUMP VICKERS PVH131 VALVE PLATE

PUMP KOBELCO SK015SR-3 PISTON SHOE SET

PUMP KOBELCO SK015SR-3 SET PLATE & BALL GUIDE

PUMP KOBELCO SK015SR-3 SET PLATE           

PUMP KOBELCO SK015SR-3 BALL GUIDE

PUMP KOBELCO SK015SR-3 CYLINDER BLOCK

PUMP KOBELCO SK015SR-3 VALVE PLATE

PUMP KOBELCO SK015SR-3 PIN

MOTOR KOBELCO SK07Ⅱ-T/M-CYB CYLINDER BLOCK

MOTOR KOBELCO SK07Ⅱ-T/M-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KOBELCO SK07Ⅱ-T/M-STP RETAINER



PUMP KOBELCO SK07N2-CYB CYLINDER BLOCK

PUMP KOBELCO SK07N2-PTS PISTON SHOE SET(9PCS/SET)

PUMP KOBELCO SK07N2-STB-A SET PLATE & BALL GUIDE

PUMP KOBELCO SK07N2-VLP VALVE PLATE

MOTOR KOBELCO SK200-3-T/M CYLINDER BLOCK

MOTOR KOBELCO SK200-3-T/M-PTS PISTON SHOE SET(9PCS/SET)

MOTOR KOBELCO SK200-3-T/M-STB-A SET PLATE & BALL GUIDE

MOTOR KOBELCO SK200-3-T/M SWASH PLATE

MOTOR KOBELCO SK200-3-T/M VALVE PLATE

PUMP KOBELCO SK200-8 CYL.BLOCK & W/V PLATE LH

PUMP KOBELCO SK200-8 CYL.BLOCK & W/V PLATE RH

PUMP KOBELCO SK200-8 CYLINDER BLOCK

PUMP KOBELCO SK200-8 VALVE PLATE LH

PUMP KOBELCO SK200-8 VALVE PLATE RH

PUMP SAUER SUNDSTRAND M15-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M15-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M15-VLL VALVE PLATE LH

PUMP SAUER SUNDSTRAND M15-VLR VALVE PLATE RH

PUMP SAUER SUNDSTRAND M15-VPM VALVE PLATE MOTOR

PUMP SAUER SUNDSTRAND M18-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M18-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M18-STP SET PLATE

PUMP SAUER SUNDSTRAND M18-VLP VALVE PLATE (BI-METAL)

PUMP SAUER SUNDSTRAND M20-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M20-BRP BEARING PLATE

PUMP SAUER SUNDSTRAND M20-BRP-O BEARING PLATE OLD

PUMP SAUER SUNDSTRAND M20-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M20-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M20-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M20-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M20-VLP-M VALVE PLATE (MOTOR)

PUMP SAUER SUNDSTRAND M20-VLP-R VALVE PLATE RH

PUMP SAUER SUNDSTRAND M21-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M21-BRP-H/P-BRASS BEARING PLATE HIGH PRESURE (BRASS)

PUMP SAUER SUNDSTRAND M21-BRP BEARING PLATE(NEW)

PUMP SAUER SUNDSTRAND M21-BRP-H/P-OLD BEARING PLATE(OLD) HIGH PRESURE

PUMP SAUER SUNDSTRAND M21-SPR BLOCK SPRING(COIL)

PUMP SAUER SUNDSTRAND M21-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M21-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M21-STP SET PLATE

PUMP SAUER SUNDSTRAND M21-SFT-21T SHAFT 21TH

PUMP SAUER SUNDSTRAND M21-SFT-14T SHAFT 14TH

PUMP SAUER SUNDSTRAND M21-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M21-VLP-M VALVE PLATE MOTOR

PUMP SAUER SUNDSTRAND M21-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M21-VLP-R VALVE PLATE RH



PUMP SAUER SUNDSTRAND M22-SFT-21T 9220417 (21 TEETH)

PUMP SAUER SUNDSTRAND M22-SFT-19T 9220515 (19 TEETH)

PUMP SAUER SUNDSTRAND M22-SFT-14T 9220944 (14 TEETH)

PUMP SAUER SUNDSTRAND M22-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M22-BRP-H/P-BRASS BEARING PLATE HIGH PRESURE (BRASS)

PUMP SAUER SUNDSTRAND M22-BRP BEARING PLATE(NEW)

PUMP SAUER SUNDSTRAND M22-BRP-H/P-OLD BEARING PLATE(OLD) HIGH PRESURE

PUMP SAUER SUNDSTRAND M22-SPR CLY. BLOCK SPRING

PUMP SAUER SUNDSTRAND M22-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M22-MCS MECHANICAL SEAL

PUMP SAUER SUNDSTRAND M22-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M22-STP SET PLATE

PUMP SAUER SUNDSTRAND M22-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M22-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M22-VLP-M VALVE PLATE (MOTOR)

PUMP SAUER SUNDSTRAND M22-VLP-R VALVE PLATE RH

PUMP SAUER SUNDSTRAND M23-SFT-19T SHAFT 9230194 (19 TEETH)

PUMP SAUER SUNDSTRAND M23-SFT-14T SHAFT 9230476 (14 TEETH)

PUMP SAUER SUNDSTRAND M23-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M23-BRP BEARING PLATE

PUMP SAUER SUNDSTRAND M23-BRP-H/P-OLD BEARING PLATE HIGH PRESURE

PUMP SAUER SUNDSTRAND M23-BRP-H/P-BRASS BEARING PLATE HIGH PRESURE (BRASS)

PUMP SAUER SUNDSTRAND M23-SPR BLOCK SPRING

PUMP SAUER SUNDSTRAND M23-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M23-MCS MECHANICAL SEAL

PUMP SAUER SUNDSTRAND M23-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M23-STP SET PLATE

PUMP SAUER SUNDSTRAND M23-SFT-23T SHAFT   9230469 (23 TEETH)

PUMP SAUER SUNDSTRAND M23-SFT-21T SHAFT (21 TEETH)

PUMP SAUER SUNDSTRAND M23-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M23-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M23-VLP-M VALVE PLATE (MOTOR)

PUMP SAUER SUNDSTRAND M23-VLP-R VALVE PLATE RH

PUMP SAUER SUNDSTRAND M24-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M24-BRP BEARING PLATE

PUMP SAUER SUNDSTRAND M24-BRP-O BEARING PLATE OLD

PUMP SAUER SUNDSTRAND M24-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M24-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M24-STP SET PLATE

PUMP SAUER SUNDSTRAND M24-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M24-VLP-M VALVE PLATE (MOTOR)

PUMP SAUER SUNDSTRAND M24-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M24-VLP-R VALVE PLATE RH

PUMP SAUER SUNDSTRAND M25-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M25-BRP BEARING PLATE

PUMP SAUER SUNDSTRAND M25-BRP-O BEARING PLATE OLD

PUMP SAUER SUNDSTRAND M25-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M25-STP SET PLATE

PUMP SAUER SUNDSTRAND M25-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M25-VLP-M VALVE PLATE (MOTOR)

PUMP SAUER SUNDSTRAND M25-VLP-L VALVE PLATE LH



PUMP SAUER SUNDSTRAND M25-VLP-R VALVE PLATE RH

PUMP SAUER SUNDSTRAND M25-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M26-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M26-BRP BEARING PLATE

PUMP SAUER SUNDSTRAND M26-BRP-O BEARING PLATE OLD

PUMP SAUER SUNDSTRAND M26-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M26-STP SET PLATE

PUMP SAUER SUNDSTRAND M26-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M26-VLP-M VALVE PLATE (MOTOR)

PUMP SAUER SUNDSTRAND M26-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M26-VLP-R VALVE PLATE RH

PUMP SAUER SUNDSTRAND M26-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M26 MECH'SEAL

PUMP SAUER SUNDSTRAND M27-BLG BALL GUIDE

PUMP SAUER SUNDSTRAND M27-BRP BEARING PLATE

PUMP SAUER SUNDSTRAND M27-BRP-OLD BEARING PLATE OLD

PUMP SAUER SUNDSTRAND M27-PTS PISTON SHOE SET(9PCS/SET)

PUMP SAUER SUNDSTRAND M27-STP SET PLATE

PUMP SAUER SUNDSTRAND M27-SHP SHOE PLATE

PUMP SAUER SUNDSTRAND M27-VLP-L VALVE PLATE LH

PUMP SAUER SUNDSTRAND M27-VLP-M VALVE PLATE MOTOR

PUMP SAUER SUNDSTRAND M27-VLP-R VALVE PLATE RH NEW(12.9T)

PUMP SAUER SUNDSTRAND M27-VLP-R VALVE PLATE RH OLD(12.8T)

PUMP SAUER SUNDSTRAND M27-CYB CYLINDER BLOCK

PUMP SAUER SUNDSTRAND M27 MECH'SEAL

MOTOR KAWASAKI MX750 CYLINDER BLOCK

MOTOR KAWASAKI MX750 VALVE PLATE

MOTOR KAWASAKI MX750 PISTON SHOE SET

MOTOR KAWASAKI MX750 SET PLATE

MOTOR KAWASAKI MX750 BALL GUIDE

MOTOR KAWASAKI MX750 SHOE PLATE

MOTOR KAWASAKI MX750 SHAFT

PUMP HITACHI UH07-5-RVL-SMALL RELIEF VALVE(SMALL)

PUMP HITACHI UH10-M/P-VLP VALVE PLATE

PUMP DAIKIN SUNDSTRAND V38-CYB CYLINDER BLOCK

PUMP DAIKIN SUNDSTRAND V38-STB-A SET PLATE & BALL GUIDE

PUMP DAIKIN SUNDSTRAND V38-VLP-L VALVE PLATE (BI-METAL) LH

PUMP DAIKIN SUNDSTRAND V38-VLP-R VALVE PLATE (BI-METAL) RH

PUMP DAIKIN SUNDSTRAND V38-SHP SHOE PLATE

PUMP VICKERS VKS-TA1919-BLG BALL GUIDE

PUMP VICKERS VKS-TA1919-CYB CYLINDER BLOCK

PUMP VICKERS VKS-TA1919-GRIP GRIP

PUMP VICKERS VKS-TA1919-PTS PISTON SHOE SET(9PCS/SET)

PUMP VICKERS VKS-TA1919-PIN PUSH ROD(3PCS/SET)

PUMP VICKERS VKS-TA1919-STP SET PLATE

PUMP VICKERS VKS-TA1919-STB-A SET PLATE & BALL GUIDE

PUMP VICKERS VKS-TA1919-VLP-L VALVE PLATE LH

PUMP VICKERS VKS-TA1919-VLP-R VALVE PLATE RH



PUMP VICKERS VKS-TA1919-VLP-LH-NEW VALVE PALTE LH (NEW)

PUMP VICKERS VKS-TA1919-VLP-M VALVE PLATE MOTOR(NEW)

PUMP DAIKIN SUNDSTRAND VRD63-BLG BALL GUIDE

PUMP DAIKIN SUNDSTRAND VRD63-SPR BLOCK SPRING

PUMP DAIKIN SUNDSTRAND VRD63-WSH WASHER

PUMP DAIKIN SUNDSTRAND VRD63-PRD PUSH ROD

PUMP DAIKIN SUNDSTRAND VRD63-CBA-L CYL.BLOCK & W/V PLATE LH

PUMP DAIKIN SUNDSTRAND VRD63-CBA-R CYL.BLOCK & W/V PLATE RH

PUMP DAIKIN SUNDSTRAND VRD63-PTS PISTON SHOE SET(9PCS/SET)

PUMP DAIKIN SUNDSTRAND VRD63-STP SET PLATE

PUMP DAIKIN SUNDSTRAND VRD63-STB-A SET PLATE & BALL GUIDE

PUMP DAIKIN SUNDSTRAND VRD63-SWP SWASH PLATE ASSY

PUMP DAIKIN SUNDSTRAND VRD63-VLP-L VALVE PLATE LH

PUMP DAIKIN SUNDSTRAND VRD63-VLP-R VALVE PLATE RH

PUMP HITACHI ZAXIS120-BLG BALL GUIDE

PUMP HITACHI ZAXIS120-PTS PISTON SHOE SET

PUMP HITACHI ZAXIS120-CBA CYL.BLOCK & W/V PLATE

PUMP HITACHI ZAXIS120-CYB CYLINDER BLOCK

PUMP HITACHI ZAXIS120-VLP VALVE PLATE

PUMP HITACHI ZAXIS120-STB-A SET PLATE & BALL GUIDE

PUMP HITACHI ZAXIS120-STP SET PLATE

PUMP HITACHI ZAXIS120-SHP SHOE PLATE

PUMP HITACHI ZAXIS120-WSH WASHER

PUMP HITACHI ZAXIS120-S-PTS SERVO PISTON

PUMP HITACHI ZAXIS120-SPR SPRING COMPRESS

PUMP HITACHI ZAXIS120-SWP-A-L SWASH PLATE ASSY LH

PUMP HITACHI ZAXIS120-SWP-A-R SWASH PLATE ASSY RH

MOTOR HITACHI ZAXIS120-S/M-PTS PISTON SHOE SET

MOTOR HITACHI ZAXIS120-S/M-CYB CYLINDER BLOCK

MOTOR HITACHI ZAXIS120-S/M-VLP VALVE PLATE

MOTOR HITACHI ZAXIS120-S/M-STP SET PLATE

MOTOR HITACHI ZAXIS120-S/M-BLG BALL GUIDE

MOTOR HITACHI ZAXIS120-S/M-SHP SHOE PLATE

MOTOR HITACHI ZAXIS120-S/M-DSP DISC SPRING

PUMP HITACHI ZAXIS 270 SHAFT LH

PUMP HITACHI ZAXIS 270 SHAFT RH

PUMP Sauer Danfoss S45-J45-PTS PISTON SHOE SET

PUMP Sauer Danfoss S45-J45-CYB CYLINDER BLOCK

PUMP Sauer Danfoss S45-J45-PIN PIN

PUMP Sauer Danfoss S45-J45-SWP SWASH PLATE

PUMP Sauer Danfoss S45-J45-STB-A SET PLATE & BALL GUIDE

PUMP Sauer Danfoss S45-F90-PTS PISTON SHOE SET

PUMP Sauer Danfoss S45-F90-CYB CYLINDER BLOCK

PUMP Sauer Danfoss S45-F90-STB-A SET PLATE & BALL GUIDE

PUMP Sauer Danfoss S45-F90-PIN PIN

PUMP Sauer Danfoss S45-F90-SWP SWASH PLATE



PUMP Sauer Danfoss H1P053-PTS PISTON SHOE SET

PUMP Sauer Danfoss H1P053-CYB CYLINDER BLOCK

PUMP Sauer Danfoss H1P053-STB-A SET PLATE & BALL GUIDE

PUMP Sauer Danfoss H1P053-PIN PIN

PUMP Sauer Danfoss H1P053-SWP SWASH PLATE

PUMP Sauer Danfoss 90P250-PTS PISTON SHOE SET

PUMP Sauer Danfoss 90P250-CYB CYLINDER BLOCK

PUMP Sauer Danfoss 90P250-VLP VALVE PLATE

PUMP Sauer Danfoss 90P250-STP SET PLATE 

PUMP Sauer Danfoss 90P250-GDE GUIDE SET

PUMP Kawasaki K7V63-PTS PISTON SHOE SET

PUMP Kawasaki K7V63-CBA-L CYLINDER BLOCK & VALVE PLATE LH

PUMP Kawasaki K7V63-CBA-R CYLINDER BLOCK & VALVE PLATE RH

PUMP Kawasaki K7V63-STB-A SET PLATE & BALL GUIDE

PUMP Kawasaki K7V63-STP SET PLATE

PUMP Kawasaki K7V63-BLG BALL GUIDE

PUMP Kawasaki K7V63-SHP SHOE PLATE

PUMP Kawasaki K7V63-SWP-A SWASH PLATE ASSY'

MOTOR Kawasaki M3B1000-PTS PISTON SHOE SET

MOTOR Kawasaki M3B1000-CBA CYLINDER BLOCK

MOTOR Kawasaki M3B1000-STB-A SET PLATE & BALL GUIDE

MOTOR Kawasaki M3B1000-SHP SHOE PALTE

MOTOR Kawasaki M3B1000-VLP VALVE PLATE

MOTOR Kawasaki M3B1000-SWP-A SWASH PLATE & SUPPORT

PUMP Rexroth A20VO60-PTS PISTON SHOE SET

PUMP Rexroth A20VO60-CYB CYLINDER BLOCK

PUMP Rexroth A20VO60-BLG BALL GUIDE

PUMP Rexroth A20VO60-STP SET PLATE

PUMP Rexroth A20VO60-VLP-L VALVE PLATE LH

PUMP Rexroth A20VO60-VLP-R VALVE PLATE RH

PUMP Rexroth A10V100-VLP-L VALVE PLATE LH

PUMP Rexroth A10V100-VLP-R VALVE PLATE RH



NO Model Part No. Part Name

MMF43(Doosan S55) MS50S202 CYLINDER BLOCK

MMF43(Doosan S55) MS50D108 VALVE PLATE

MMF43(Doosan S55) J43A108 PISTON ASS'Y

MMF43(Doosan S55) MS50D105 PUSH PLATE

MMF43(Doosan S55) BALL GUIDE 

MMF43(Doosan S55) J43A102 SHOE PLATE 

MMF43(Doosan S55) JAOG1002 DRIVE SHAFT

MMF29 (HYUNDAI R55,R60-7) XKAY-00158 CYLINDER BLOCK

MMF29 (HYUNDAI R55,R60-7) XKAY-00125 VALVE PLATE

MMF29 (HYUNDAI R55,R60-7) XKAY-00419 PISTON ASS'Y

MMF29 (HYUNDAI R55,R60-7) XKAY-00160 PUSH PLATE

MMF29 (HYUNDAI R55,R60-7) XKAY-00129 BALL GUIDE 

MMF29 (HYUNDAI R55,R60-7) SHOE PLATE 

MMF29 (HYUNDAI R55,R60-7) XKAY-00120 DRIVE SHAFT

MMF 151 XKAY-00633 CYLINDER BLOCK

MMF 151 XKAY-00544 VALVE PLATE

MMF 151 XKAY-00536 PISTON ASS'Y

MMF 151 XKAY-00534 PUSH PLATE

MMF 151 XKAY-00533 BALL GUIDE 

MMF 151 XKAY-00527 SHOE PLATE 

MMF 151 DRIVE SHAFT

MMV155 (Doosan S300 TRAVEL) 2405-1008 SHAFT-MAIN

MMV155 (Doosan S300 TRAVEL) 2410-1015B CYLINDER BLOCK

MMV155 (Doosan S300 TRAVEL) 2420-1087 VALVE PLATE

MMV155 (Doosan S300 TRAVEL) PISTON ASS'Y

MMV155 (Doosan S300 TRAVEL) PUSH PLATE

MMV155 (Doosan S300 TRAVEL) BALL GUIDE 

MMV155 (Doosan S300 TRAVEL) SHOE PLATE 

MMV155 (Doosan S300 TRAVEL) SWASH/SUPPORT

Doosan S300-5/7,DX300(SWING) K9000931  CYLINDER BLOCK

Doosan S300-5/7,DX300(SWING) K9000932 VALVE PLATE

Doosan S300-5/7,DX300(SWING) K9000936 PISTON ASS'Y

Doosan S300-5/7,DX300(SWING) K9000935  PUSH PLATE

Doosan S300-5/7,DX300(SWING) K9000934 BALL GUIDE 

Doosan S300-5/7,DX300(SWING) K9000928 SHOE PLATE 

Doosan S300-5/7,DX300(SWING) K9000925 DRIVE SHAFT

Doosan S330(SWING) J98A2005 CYLINDER BLOCK

Doosan S330(SWING) J98A2015 VALVE PLATE

Doosan S330(SWING) J98A2010 PISTON ASS'Y

Doosan S330(SWING) J98A2009 PUSH PLATE

Doosan S330(SWING) BALL GUIDE 

Doosan S330(SWING) J98A2004 SHOE PLATE 

Doosan S330(SWING) J98A2002 DRIVE SHAFT

Doosan DX140(SWING) CYLINDER BLOCK

Doosan DX140(SWING) VALVE PLATE

Doosan DX140(SWING) PISTON ASS'Y

Doosan DX140(SWING) PUSH PLATE

Doosan DX140(SWING) BALL GUIDE 

Doosan DX140(SWING) SHOE PLATE 

Doosan DX140(SWING) DRIVE SHAFT

■ OEM MOTOR & REDUCTION GEAR PARTS



Doosan DX225LC (SWING) K9001847 VALVE PLATE

Doosan DX225LC (SWING) K9001845 PISTON ASS'Y

Doosan DX225LC (SWING) 110943-00057 PUSH PLATE

Doosan DX225LC (SWING) 1.148-00015 BALL GUIDE 

Doosan DX225LC (SWING) SHOE PLATE 

Doosan DX225LC (SWING) DRIVE SHAFT

Doosan DX225LC (TRAVEL) K9007397 CYLINDER BLOCK

Doosan DX225LC (TRAVEL) K9007398B VALVE PLATE

Doosan DX225LC (TRAVEL) K9007406A PISTON ASS'Y

Doosan DX225LC (TRAVEL) K9004447 PUSH PLATE

Doosan DX225LC (TRAVEL) K9004448 BALL GUIDE 

Doosan DX225LC (TRAVEL) SHOE PLATE 

Doosan DX225LC (TRAVEL) K9007415 DRIVE SHAFT

Doosan DX225LC (TRAVEL) K9007390 DRIVE GEAR

TM07VA 120662 CYLINDER BLOCK

TM07VA 121339 VALVE PLATE

TM07VA 708562B PISTON ASS'Y

TM07VA 121347A PUSH PLATE

TM07VA 121346 BALL GUIDE (STEEL)

TM07VA 121350A SHOE PLATE 

TM07VA 120663A SWASH PLATE

TM07VA 121342 DRIVE SHAFT

TM07VA TRAVEL MOTOR ASS"Y (5TON)

TM07VC 141650A CYLINDER BLOCK

TM07VC VALVE PLATE

TM07VC 723058X PISTON ASS'Y

TM07VC 142756 PUSH PLATE

TM07VC 142757 BALL GUIDE (STEEL)

TM07VC SHOE PLATE 

TM07VC SWASH PLATE

TM07VC 142864A DRIVE SHAFT

TM09VA CYLINDER BLOCK

TM09VA VALVE PLATE

TM09VA PISTON ASS'Y

TM09VA PUSH PLATE

TM09VA BALL GUIDE (STEEL)

TM09VA SWASH PLATE

TM09VA DRIVE SHAFT

TM09VA TRAVEL MOTOR ASS"Y (8TON)

TM18VC CYLINDER BLOCK

TM18VC VALVE PLATE

TM18VC PISTON ASS'Y

TM18VC PUSH PLATE

TM18VC BALL GUIDE (STEEL)

TM18VC SHOE PLATE 

TM18VC SWASH PLATE

TM18VC DRIVE SHAFT

TM18VC TRAVEL MOTOR ASS"Y (14TON)

TM24VA 116971A MAIN SHAFT

TM24VA 116967 COUPLING

TM24VA 215811 SUN GEAR

TM24VA 127047 CLUSTER SHAFT

TM24VA 215810A CLUSTER GEAR

TM24VA 116970 COUPLING GEAR

GM35VL 131149N CYLINDER BLOCK

GM35VL 132324A VALVE PLATE

GM35VL 716689X PISTON ASS'Y

GM35VL 131150 PUSH PLATE

GM35VL 132323-1 BALL GUIDE (BRONZE)



GM35VL 133591 SWASH PLATE

GM35VL 131155/131679 MAIN SHAFT

GM35VL 107589 GM35VA/40VC COUPLING

GM35VL 133592/DH220-7 SUN GEAR

GM35VL 131136D RV GEAR(A)

GM35VL 131137D RV GEAR(B)

GM35VL 131134 CRANK SHAFT

GM35VL SPACER

GM35VL 229124 T/ROLLER BEARING

GM35VL 229125 NEEDLE BEARING

GM35VL 718550 RV GEAR ASS"Y

GM35VL SPUR GEAR(PLANET GEAR)(44*30T)

GM35VL 133596 SPUR GEAR(PLANET GEAR)(43*30T)(M2.75)

GM35VL 133597 SPUR GEAR(PLANET GEAR)(43*30T)(M3)

GM35VL 131138 SPUR GEAR(PLANET GEAR)(42*30T)

GM35VL 133595 SPUR GEAR(PLANET GEAR)(40*30T)

GM35VL 133593 SPUR GEAR(PLANET GEAR)(30*30T)

GM35VL 133594 T-GEAR(SUN GEAR)(12*21T)

GM35VL T-GEAR(SUN GEAR)(16*21T)

GM35VL 133592 T-GEAR(SUN GEAR)(17*21T)

GM35VL 131140 T-GEAR(SUN GEAR)(18*21T)

GM35VL 131143 T-GEAR(SUN GEAR)(20*21T)

GM35VL 131147 T-GEAR(SUN GEAR)(23*21T)

GM35VA 112583 CYLINDER BLOCK

GM35VA 112910 VALVE PLATE

GM35VA 703799X PISTON ASS'Y

GM35VA 119885 / 250201-00799 PUSH PLATE

GM35VA SHOE PLATE

GM35VA 203339B 40VC BALL GUIDE 

GM35VA SWASH PLATE

GM35VA 112580 MAIN SHAFT

GM35VA 104034B PIN

GM35VA SPRING(FOR CYLINDER)

GM35VA 107589 COUPLING

GM35VA 119537 SUN GEAR

GM35VA 124156A CLUSTER SHAFT

GM35VA 119536 CLUSTER GEAR

GM35VA 112566A COUPLING GEAR

GM35VA 112567A CARRIER

GM35VA 119807Z RING GEAR(A)

GM35VA 119808 RING GEAR(B)

TM40VC 143549B CYLINDER BLOCK

TM40VC 143570 VALVE PLATE

TM40VC 723379A PISTON ASS'Y

TM40VC 1.412-00093 PUSH PLATE

TM40VC SHOE PLATE

TM40VC 1.148-00016 BALL GUIDE 

TM40VC 143550A/1.412-00202 SWASH PLATE

TM40VC 112580A 35VA MAIN SHAFT

TM40VC PIN

TM40VC 203352 SPRING(FOR CYLINDER)

TM40VC 107589 GM35VL/GM35VA COUPLING

TM40VC SUN GEAR

TM40VC CLUSTER SHAFT

TM40VC CLUSTER GEAR

TM40VC COUPLING GEAR

TM40VC 143527 CARRIER

TM40VC 119807 RING GEAR(A)

TM40VC 143530 RING GEAR(B)

TM40VC CARRIER ASS"Y

TM40VC TRAVEL MOTOR ASS"Y (22TON)

TM50/60 132974 PLANETNET GEAR NO.1

TM50/60 135392 PLANETNET GEAR NO.2



TM50/60 132980 PLANETNET GEAR NO.3

TM50/60 SUN GEAR NO.1

TM50/60 SUN GEAR NO.2

TM50/60 132985 SUN GEAR NO.3

GM09 PLANET GEAR(32*18T)

GM09 PLANET GEAR(38*18T)

GM09 PLANET GEAR(39*18T)

GM07/09 RV GEAR(A)

GM07/09 RV GEAR(B)

GM07/09 CRANK SHAFT

GM09 COUPLING

GM17 GEAR(27*26T)

GM17 GEAR(26*26T)

GM18 DRIVE GEAR

GM17 GEAR(14*15T)

GM17 GEAR(15*15T)

GM17 GEAR(16*15T)

GM18 GEAR(22*26T)

GM18 GEAR(38*26T)

GM18 5C0712 GEAR(43*26T)

GM18 GEAR(44*26)

GM18 T/GEAR (14*13T)

GM18 T/GEAR (14*17T)

GM18 T/GEAR (16*14T)

GM18 T/GEAR (16*15T)

GM18 T/GEAR (16*16T)

GM17/18 RV GEAR(A)

GM17/18 RV GEAR(B)

GM17/18 CRANK SHAFT

GM18 PUMP SHAFT(205L)

GM18 PUMP SHAFT(211L)

R555W,R60W,S55W,DX55W,DX60W,MX3W HUB CARRIER PLANET(ZTAM-00733)(K9006386)(822-06410)

R555W,R60W,S55W,DX55W,DX60W,MX3W RING GEAR(ZTAM-00722)(2.403-00332)

R555W,R60W,S55W,DX55W,DX60W,MX3W SUPPORT(ZTAM-00721)(2.197-00070)(7415006)

R555W,R60W,S55W,DX55W,DX60W,MX3W PLANET GEAR(ZTAM-00726)(2.403-00328)(59917625)

R555W,R60W,S55W,DX55W,DX60W,MX3W PIN(ZTAM-00732)(2.123-00263)(8220-06460)

DX140W/R140W(R150W-9) HUB SUN GEAR RR(ZGAQ-02951)(K9001556)

DX140W/R140W(R150W-9) PLANET GEAR(K9001547)(4472 347 008)

DX140W/R140W(R150W-9) PLANET GEAR(ZGAQ-02933)(130413-00005))

S200W,R210W HUB PLANET GEAR(4472 320 009)

S200W,R210W SUN GEAR FR(4472 375 005)

S200W,R210W SUN GEAR RR(4472 321 007)

S130W,R1300W HUB (ZF) CARRIER PLANET(4472 386 005)

S130W,R1300W RING GEAR(4472 319 218)

S130W,R1300W DISC CARRIER REAR(4472 322 013)

S130W,R1300W DISC CARRIER FRONT(4472 377 037)

S130W,R1300W PLANET GEAR(4472 364 006)

S130W,R1300W SUN GEAR FRONT(4472 319 157)

S130W,R1300W SUN GEAR REAR(4472 319 161)

S120W HUB (ZF) RING GEAR(4472 319 099)

S120W PLANET GEAR(4472 353 463)

S120W SUN GEAR FRONT(4472 373 190)

S120W SUN GEAR REAR(4472 319 095)

R1300W,R1400W-7 DANA AXLE TYPE RING GEAR(ZTAM-00069)

R1300W,R1400W-7 SUPPORT(ZTAM-00070)

R1300W,R1400W-7 PLANET GEAR(ZTAM-00072)

DX210W,R210W HUB SUN GEAR RR(4472 348 028)(K9004163)(ZGAQ-03208)



R60W/R55W/S55W ZTAM-00726 PLANET GEAR

R60W/R55W/S55W ZTAM-00722 RING GAER

R60W/R55W/S55W ZTAM-00721 SUPPORT

60W RING GAER DH55    1단 PLANET  GEAR

DH55    2단 PLANET  GEAR

2404-1040 DH55    2단 SUN  GEAR

K9007390 DX225LC DRIVE GEAR

34*18T 3063840 EX200-5     DRIVE  GEAR

34*19T 3063842 EX200-5(L)  DRIVE  GEAR

34*19T 3063843 EX200-5®  DRIVE   GEAR

10*15*19 3081085 EX200 GEAR PUMMP SHAFT

10*18T 3055594 EX200  GEAR SHAFT
37*19T

EX300   DRIVE GEAR
39*15T

303583 EX300   DRIVE GEAR
39*19T

303582 EX300   CENTER GEAR

37 * 15T EX330   DRIVE GEAR

41 * 19T EX330   DRIVE GEAR

SWING PC60-7 RING GEAR

SWING PC60-7  1단 P/GEAR

SWING PC60-7 1단 S/GEAR

SWING PC60-7 2단  S/GEAR

SWING PC60-7 2단 P/GEAR

SWING PC60-7 2단  S/GEAR

SWING PC60-7 1단  CARRIER

SWING PC60-7 2단  CARRIER

SWING PC60-7  PINION SHAFT

SWING PC200-6 RING GEAR

SWING PC200-6 2단   SUN GEAR

SWING PC200-6 2단   PLANET GEAR

SWING PC200-6 1단   SUN GEAR

SWING PC200-7 2단   PLANET GEAR

SWING PC200-6 2단   CARRIER

SWING PC200-7 2단   CARRIER

SWING PC200-7 2단   SUN GEAR

TRAVEL ZAXIS 200 DRIVE GEAR

TRAVEL ZAXIS 200 1단 PLANET GEAR

TRAVEL ZAXIS 200 2단 SUN GEAR

TRAVEL ZAXIS 200 2단 PLANET GEAR

TRAVEL ZAXIS 200 3단  SUN GEAR

TRAVEL ZAXIS 200 3단  PLANET GEAR

GM09 PLANET GEAR(32*18T)

GM09 PLANET GEAR(38*18T)

GM09 PLANET GEAR(39*18T)

GM07/09 RV GEAR(A)

GM07/09 RV GEAR(B)

GM07/09 CRANK SHAFT

GM09 COUPLING

GM17 GEAR(27*26T)

GM17 GEAR(26*26T)

GM18 DRIVE GEAR

GM17 GEAR(14*15T)

GM17 GEAR(15*15T)

GM17 GEAR(16*15T)

GM18 GEAR(22*26T)

GM18 GEAR(38*26T)

GM18 GEAR(43*26T)

GM18 GEAR(44*26)

SK200-8 P/GEAR(18T)

GM18 T/GEAR (14*13T)

GM18 T/GEAR (14*17T)

GM18 T/GEAR (16*14T)

GM18 T/GEAR (16*15T)

GM18 T/GEAR (16*16T)

GM17/18 RV GEAR(A)

GM17/18 RV GEAR(B)

GM17/18 CRANK SHAFT



GM18 PUMP SHAFT(205L)

PUMP SHAFT(211L)

GM18 PUMP SHAFT(211L)

HUB-DX210W(DX210W-7)/R210W(R210W-9) ZGAQ-02226 K9004164 4472 348 032 PLANET GEAR

HUB-DX210W(DX210W-7)/R210W(R210W-9) ZGAQ-03208 ZCAQ-02204 K9004163 4472 348 028 SUN GEAR RR

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) XKAQ-00102 104 00019 RING GEAR 

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) 405-00006(DOOSAN) DRIVE SHAFT

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) XKAQ-00249(HYUNDAI) DRIVE SHAFT

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) XKAQ-00271 230-00018KT CARRIER ASS'Y NO.1

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) KXKAQ-00277 404-00066 SUN GEAR NO.1

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) 404-00065 PLANET GEAR NO.1

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) 123-00095 PIN NO.1

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) 180-00179  70*95*13 TC TYPE 

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) 180-00179  70*95*13 TCN TYPE

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) NJ313 BEARING 

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) XKAQ-00272 230-00017KT CARRIER ASS'Y NO.2

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) 424-00064(DOOSAN) SUN GEAR NO.2

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) XKAQ-00278(HYUNDAI) SUN GEAR NO.2

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) XKAQ-00101 404-00063 PIN NO.2

SWING-S130W-5(DH150W-7)/R1400W-7(R150W-7) P22314 BEARING 

SWING-S200W-III 2230-1016KT CARRIER ASS'Y NO.1

SWING-S200W-III 2230-1029KT CARRIER ASS'Y NO.2

SWING-S200W-III 2104-1011 RING GEAR 

SWING-S200W-III 2101-1011 PLANET GEAR NO.1

SWING-S200W-III 2101-1012 SUN GEAR NO.1

SWING-S200W-III 2216-9001 NEEDLE CAGE 

SWING-S200W-III 2123-1632 PIN NO.1

SWING-S200W-III 2405-1015 DRIVE SHAFT(BOLT TYPE)

SWING-S200W-III 2405-1013 DRIVE SHAFT(KEY TYPE)

SWING-S200W-III 2109-9033 BEARING 

SWING-S200W-III 2101-1010 SUN GEAR NO.2

SWING-S200W-III 2101-1009 PLANET GEAR NO.2

SWING-S200W-III 2123-1638 PIN NO.2

SWING-S200W-III 2180-1254  100*125*13 OIL SEAL

SWING-S220LC-V 230-00050 CARRIER ASS'Y NO.1

SWING-S220LC-V 230-00051 CARRIER ASS'Y NO.2

SWING-S220LC-V 2104-1013 RING GEAR 

SWING-S220LC-V 2112-1248 DRIVE SHAFT 

SWING-S220LC-V 2104-1019 SUN GEAR NO.1

SWING-S220LC-V 2104-1020 PLANET GEAR NO.1

SWING-S220LC-V 2123-2327 PIN NO.1

SWING-S220LC-V 2104-1021 SUN GEAR NO.2

SWING-S220LC-V 2104-1022 PLANET GEAR NO.2

SWING-S220LC-V 2110-1371 BUSHING NO.2

SWING-S220LC-V 2123-2322 PIN NO.2

SWING-S220LC-V 2114-1902 CENTER WASHER

SWING-S220LC-7/DH225LC-7 K9006810 CARRIER ASS'Y NO.1

SWING-S220LC-7/DH225LC-7 K9006811 CARRIER ASS'Y NO.2

SWING-S220LC-7/DH225LC-7 104-00051 RING GEAR 

SWING-S220LC-7/DH225LC-7 K1004160 SWING REDUCTION ASS'Y

SWING-S220LC-7/DH225LC-7 104-00047 SUN GEAR NO.1

SWING-S220LC-7/DH225LC-7 104-00049 PLANET GEAR NO1.

SWING-S220LC-7/DH225LC-7 123-00435 PIN NO.1

SWING-S220LC-7/DH225LC-7 104-00048 SUN GEAR NO.2

SWING-S220LC-7/DH225LC-7 104-00050 PLANET GEAR NO.2

SWING-S220LC-7/DH225LC-7 123-00437 PIN NO.2

SWING-S220LC-7/DH225LC-7 110-00219 BUSHING NO.2

SWING-S300LC-V/DH300LC-7 404-00096 SWING REDUCTION ASS'Y

SWING-S300LC-V/DH300LC-7 230-00066 CARRIER ASS'Y NO1.

SWING-S300LC-V/DH300LC-7 230-00067 CARRIER ASS'Y NO.2

SWING-S300LC-V/DH300LC-7 104-00046 RING GEAR 

SWING-S300LC-V/DH300LC-7 101-00024 SUN GEAR NO.1

SWING-S300LC-V/DH300LC-7 104-00041 PLANET GEAR NO,1

SWING-S300LC-V/DH300LC-7 123-000457 PIN NO.1

SWING-S300LC-V/DH300LC-7 104-00045 PINION GEAR 

SWING-S300LC-V/DH300LC-7 104-00044 SUN GEAR NO.2



SWING-S300LC-V/DH300LC-7 123-00471 PLANET GEAR NO.2

SWING-S300LC-V/DH300LC-7 110-00231 PIN NO.2

SWING-S300LC-V/DH300LC-7 223-00043 BUSHING NO.2

SWING-S300LC-V/DH300LC-7 404-00094 (#1463~) OIL SEAL

SWING-S330LC-V/S370LC-7/S420LC-V 230-00064 SWING REDUCTION ASS'Y

SWING-S330LC-V/S370LC-7/S420LC-V 230-00068 CARRIER ASS'Y NO.1

SWING-S330LC-V/S370LC-7/S420LC-V 230-00065 CARRIER ASS'Y NO.1

SWING-S330LC-V/S370LC-7/S420LC-V 104-00040 CARRIER ASS'Y NO.2

SWING-S330LC-V/S370LC-7/S420LC-V 104-00038 3GEAR 22T RING GEAR 

SWING-S330LC-V/S370LC-7/S420LC-V 104-00043 4GEAR 19T SUN GEAR NO.1

SWING-S330LC-V/S370LC-7/S420LC-V 104-00042 SUN GEAR NO.1

SWING-S330LC-V/S370LC-7/S420LC-V 125051-00457 PLANET GEAR NO.1

SWING-S330LC-V/S370LC-7/S420LC-V 2404-1065 PIN NO.1

SWING-S330LC-V/S370LC-7/S420LC-V 104-00039 PINION GEAR 

SWING-S330LC-V/S370LC-7/S420LC-V 104-00037 SUN GEAR NO.2

SWING-S330LC-V/S370LC-7/S420LC-V 123-00459 PLANET GEAR NO.2

SWING-S330LC-V/S370LC-7/S420LC-V 110-00228 PIN NO.2

SWING-S330LC-V/S370LC-7/S420LC-V 223-00043 BUSHING NO.2

SWING-S330LC-V/S370LC-7/S420LC-V 31N6-10180 OIL SEAL

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00754 XKAQ-00266/268 SWING REDUCTION

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00753 XKAQ-00270 CARRIER ASS'Y NO.1

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00301 CARRIER ASS'Y NO.2

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00073 CASING 

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00029 RING GEAR 

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00331 2HOLE BEARING 

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00010 16T DRIVE SHAFT 

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00067 13T SUN GEAR NO.1

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00025 SUN GEAR NO.1

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00030 PLANET GEAR NO.1

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00019 NEEDLE CAGE 

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00026 PIN NO.1

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00014 BEARING 

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00011 PINION GEAR 

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00023 SUN GEAR NO.2

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00070 PLANET GEAR NO.2

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00032  100*125*13 PIN NO.2

SWING-R2200LC-7/R2000W-7/R225-7(SB TYPE) XKAQ-00473 OIL SEAL

SWING-R300LC XKAQ-00456 CARRIER ASS'Y NO.1

SWING-R300LC XKAQ-00454 SUN GEAR NO.1

SWING-R300LC XKAQ-00440 PLANET GEAR NO.1

SWING-R300LC XKAQ-00455 PIN NO.1

SWING-R300LC XKAQ-00469 SUN GEAR NO.2

SWING-R300LC XKAQ-00470 PLANET GEAR NO.2

SWING-R300LC XKAQ-00412 XKAQ-00262 PIN NO.2

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00027/23024 CARRIER ASS'Y NO.1

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00746 XKAQ-00257 BEARING 

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00414 XKAQ-00159 SUN GEAR NO.1

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00744 XKAQ-00019 PLANET GEAR NO.1

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00030 PIN NO.1

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00260 NEEDLE CAGE 

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00745 XKAQ-00252 BEARING 

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00741 XKAQ-00253 SUN GEAR NO.2

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00742 XKAQ-00254 PLANET GEAR NO.2

SWING-R3600LC-7/R3700LC-7A/R380(SB TYPE) XKAQ-00754 PIN NO.2

SWING-R5000LC-7(SB TYPE) XKAQ-00753 CARRIER ASS'Y NO.1

SWING-R5000LC-7(SB TYPE) XKAQ-00752 XKAQ-00645 XKAQ-00282 CARRIER ASS'Y NO.2

SWING-R5000LC-7(SB TYPE) XKAQ-00648 XKAQ-00294 DRIVE SHAFT

SWING-R5000LC-7(SB TYPE) XKAQ-00025 XKAQ-00646 SUN GEAR NO.1

SWING-R5000LC-7(SB TYPE) XKAQ-00019 XKAQ-00415 PLANET GEAR NO.1

SWING-R5000LC-7(SB TYPE) XKAQ-00755 XKAQ-00289 PIN NO.1

SWING-R5000LC-7(SB TYPE) XKAQ-00023 SUN GEAR NO.2

SWING-R5000LC-7(SB TYPE) XKAQ-00070 XKAQ-00643 PLANET GEAR NO.2

SWING-R5000LC-7(SB TYPE) XKAQ-00287 PIN NO.2

SWING-R5000LC-7(SB TYPE) 7513-046KT PINION GEAR 

SWING-MX6W-2/HE130W/R1300W RG045 7509-153 7509-172 CARRIER ASS'Y NO.1

SWING-MX6W-2/HE130W/R1300W RG045 7514-184 SHAFT



SWING-MX6W-2/HE130W/R1300W RG045 7514-186 SUN GEAR NO.1

SWING-MX6W-2/HE130W/R1300W RG045 7514-188 PLANET GEAR NO.1

SWING-MX6W-2/HE130W/R1300W RG045 7514-189 SUN GEAR NO.2

SWING-MX6W-2/HE130W/R1300W RG045 7118-23400 PLANET GEAR NO.2

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23200 CARRIER GEAR NO.1

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23350 CARRIER GEAR NO.2

SWING-MX135W/EW130/EC135BLC/EW145B 14528928 RING GEAR 

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23490 SHAFT

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23420 SUN GEAR NO.1

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23430 PALNET GAER NO.2

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23440 PIN NO.1

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23460 BEARING NO.1

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23220 SUN GEAR NO.2

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23240 PLANET GAER NO,2

SWING-MX135W/EW130/EC135BLC/EW145B 7118-23250 PIN NO.2

SWING-MX135W/EW130/EC135BLC/EW145B 7118-00150 BUSHING NO.2

SWING-MX135W/EW130/EC135BLC/EW145B 7118-00506 OIL SEAL

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-01771 CARRIER ASS'Y NO.1

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00220 CARRIER ASS'Y NO.2

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00561 RING GEAR 

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-01772 CARRIER ASS'Y NO.1

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00200 CARRIER ASS'Y NO.2

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00191 SUN GEAR NO.1

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7008-00630 PLANET GEAR NO.1

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00201 PIN NO.1

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00192 SUN GEAR NO.1

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00091 PALNET GAER NO.1

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00121 SUN GAER NO.2

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00130 PLANET GAER NO.2

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00140 BUSHING NO.2

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00092 PIN NO.2

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 7118-00122 SUN GEAR NO.2

SWING-MX8W-2/MX8LC-2/MX202W/MX222LC/SE210LC-2 14514069 PLANET GAER NO.2

SWING-EC210B 7118-30400/14528725 SWING REDUCTION ASS'Y

SWING-EC210B 7118-30200 CARRIER ASS'Y NO.1

SWING-EC210B 7118-30340 CARRIER ASS'Y NO.2

SWING-EC210B 7118-30350 CASING 

SWING-EC210B 7118-00040/22218 RING GEAR 

SWING-EC210B 7118-30490 BEARING 

SWING-EC210B 7118-30420 SUN GEAR NO.1

SWING-EC210B 7118-30430 PLANET GEAR NO.1

SWING-EC210B 7118-30440 14550879 PIN NO.1

SWING-EC210B 7118-30300 14528929 BEARING NO.1

SWING-EC210B 7118-01740/22320 DRIVE SHAFT

SWING-EC210B 7118-30390 BEARING 

SWING-EC210B 7118-30220 SUN GEAR NO.2

SWING-EC210B 7118-30230 PLANET GEAR NO.2

SWING-EC210B 14508911  200*230*14 PIN NO.2

SWING-EC210B 14512787 14619955 14668227 OIL SEAL

SWING-MX352/EC360B 8230-22850 SWING REDUCTION ASS'Y

SWING-MX352/EC360B 8230-22660KT CARRIER ASS'Y NO.1

SWING-MX352/EC360B 8230-22750 CARRIER ASS'Y NO.2

SWING-MX352/EC360B 1055-00481 RING GEAR 

SWING-MX352/EC360B 1036-00720 PINION GEAR 

SWING-MX352/EC360B 8230-22760 BEARING 

SWING-MX352/EC360B 8230-22770 SUN GEAR NO.1

SWING-MX352/EC360B 8230-22600 PLANET GEAR NO.1

SWING-MX352/EC360B 8230-22560 PIN NO.1

SWING-MX352/EC360B 8230-22820 DRIVE SHAFT

SWING-MX352/EC360B 8230-22790 BEARING 

SWING-MX352/EC360B 8230-22780-14596616 SUN GEAR NO.2

SWING-MX352/EC360B 8230-22570 PLANET GEAR NO.2

SWING-MX352/EC360B 8230-22880 PIN  NO.2

SWING-MX352/EC360B 8230-22840 BUSHING NO.2

SWING-MX352/EC360B SRPC200-8DB OIL SEAL

SWING-PC200-8 22U-26-21572KT SWING REDUCTION ASS'Y



SWING-PC200-8 22U-26-21580KT CARRIER ASS'Y NO.1

SWING-PC200-8 22U-26-21551 CARRIER ASS'Y NO.2

SWING-PC200-8 22U-26-21510 RING GEAR 

SWING-PC200-8 22U-26-21520 SUN GEAR NO.1

SWING-PC200-8 22U-26-21210 PLANET GEAR NO.1

SWING-PC200-8 20Y-26-21281 PIN NO.1

SWING-PC200-8 22U-26-21250 BEARING NO.1

SWING-PC200-8 22U-26-21230 PLATE

SWING-PC200-8 22U-26-21530 DRIVE SHAFT

SWING-PC200-8 22U-26-21540 SUN GEAR NO.2

SWING-PC200-8 22Y-26-22250 PLANET GEAR NO.2

SWING-PC200-8 20G-26-11241 PIN NO.2

SWING-PC200-8 20Y-26-22420 BEARING NO.2

SWING-PC200-8 SRPC300-7DB OIL SEAL

SWING-PC300LC-7 207-26-71570KT SWING REDUCTION ASS'Y

SWING-PC300LC-7 207-26-71580KT CARRIER ASS'Y NO.1

SWING-PC300LC-7 207-26-71550 CARRIER ASS'Y NO.2

SWING-PC300LC-7 207-26-7110 RING GEAR 

SWING-PC300LC-7 207-26-71510 CASE

SWING-PC300LC-7 207-26-71520 SUN GEAR NO.1

SWING-PC300LC-7 207-26-71210 PLANET GEAR NO.1

SWING-PC300LC-7 22U-26-21320 PIN NO.1

SWING-PC300LC-7 207-26-71160 BEARING NO.1

SWING-PC300LC-7 207-26-71530 DRIVE SHAFT

SWING-PC300LC-7 207-26-71540 SUN GEAR NO.2

SWING-PC300LC-7 20Y-26-21320 PLANET GEAR NO.2

SWING-PC300LC-7 206-26-71270 PIN NO.2

SWING-PC300LC-7 07012-00145 BEARING NO.2

SWING-PC300LC-7 9204194 OIL SEAL

SWING-ZX330/ZX330LC/ZX370 1027952KT SWING REDUCTION ASS'Y

SWING-ZX330/ZX330LC/ZX370 2044703KT CARRIER ASS'Y NO.1

SWING-ZX330/ZX330LC/ZX370 1027953 CARRIER ASS'Y NO.2

SWING-ZX330/ZX330LC/ZX370 1027932 RING GEAR 

SWING-ZX330/ZX330LC/ZX370 3088062 CASE

SWING-ZX330/ZX330LC/ZX370 3088063 SUN GEAR NO.1

SWING-ZX330/ZX330LC/ZX370 4144558 PLANET GEAR NO.1

SWING-ZX330/ZX330LC/ZX370 4190117 PIN NO.1

SWING-ZX330/ZX330LC/ZX370 2044704 BEARING NO.1

SWING-ZX330/ZX330LC/ZX370 3075692 DRIVE SHAFT

SWING-ZX330/ZX330LC/ZX370 3088069 SUN GEAR NO.2

SWING-ZX330/ZX330LC/ZX370 4430714 PLANET GAER NO.2

SWING-ZX330/ZX330LC/ZX370 4445254 PIN NO.2

SWING-ZX330/ZX330LC/ZX370 4430715 BEARING NO.2

SWING-ZX330/ZX330LC/ZX370 9236591 OIL SEAL

SWING-Z330-3/Z330LC-3/ZX350LC-3 1032128KT SWING REDUCTION ASS'Y

SWING-Z330-3/Z330LC-3/ZX350LC-3 2050998KT CARRIER ASS'Y NO.1

SWING-Z330-3/Z330LC-3/ZX350LC-3 1032127 CARRIER ASS'Y NO.2

SWING-Z330-3/Z330LC-3/ZX350LC-3 1033255 RING GEAR 

SWING-Z330-3/Z330LC-3/ZX350LC-3 3101105 CASE

SWING-Z330-3/Z330LC-3/ZX350LC-3 3098513 SUN GEAR NO.1

SWING-Z330-3/Z330LC-3/ZX350LC-3 4144558 PLANET GEAR NO.1

SWING-Z330-3/Z330LC-3/ZX350LC-3 4190117 PIN NO.1

SWING-Z330-3/Z330LC-3/ZX350LC-3 2050987 BEARING NO.1

SWING-Z330-3/Z330LC-3/ZX350LC-3 3075692 DRIVE SHAFT

SWING-Z330-3/Z330LC-3/ZX350LC-3 3088069 SUN GEAR NO.2

SWING-Z330-3/Z330LC-3/ZX350LC-3 4430714 PLANET GEAR NO.2

SWING-Z330-3/Z330LC-3/ZX350LC-3 4445254 PIN NO.2

SWING-Z330-3/Z330LC-3/ZX350LC-3 4430715 BEARING NO.2

SWING-Z330-3/Z330LC-3/ZX350LC-3 OIL SEAL

TRAVEL-EC210B 7117-30270/14528727 CARRIER ASS'Y NO.1

TRAVEL-EC210B 7117-30200/14528723 CARRIER ASS'Y NO.2

TRAVEL-EC210B 7117-30190 RING GEAR 

TRAVEL-EC210B 7117-30330 SUIN GEAR NO.1

TRAVEL-EC210B 7117-30340 PLANET GEAR NO.1

TRAVEL-EC210B 7117-30360 PIN NO.1

TRAVEL-EC210B 7117-30320 BEARING NO.1



TRAVEL-EC210B 7117-30290 SUN GEAR NO.2

TRAVEL-EC210B 7117-30240 PLANET GAER NO.2

TRAVEL-EC210B 7117-30250 PIN NO.2

TRAVEL-EC210B 7117-30230 BEARING NO.2

TRAVEL-EC290B 14551154 TRAVEL REDUCTION ASS'Y

TRAVEL-EC290B 14551156 CARRIER ASS'Y NO.1

TRAVEL-EC290B 7117-38210 CARRIER ASS'Y NO.2

TRAVEL-EC290B 1456954 SHAFT

TRAVEL-EC290B 7117-38371 SUN GEAR NO.1

TRAVEL-EC290B 7117-38400 SUN GEAR NO.2

TRAVEL-EC290B 7117-38330 SUN GEAR NO.3

TRAVEL-EC290B 14522999/14601855 COVER

TRAVEL-EC290B 14522897 RING GEAR 

TRAVEL-EC290B 7117-38431 PLANRT GEAR NO.1

TRAVEL-EC290B 7117-38350 PLANET GEAR NO.2

TRAVEL-EC290B 7117-38271 PLANET GEAR NO.3

TRAVEL-EC360B 14516448/14528259/14551150 TRAVEL REDUCTION ASS'Y

TRAVEL-EC360B 145522997 RING GEAR 

TRAVEL-EC360B 14551152 CARRIER ASS'Y NO.1

TRAVEL-EC360B 14551153 CARRIER ASS'Y NO.2

TRAVEL-EC360B 14522996 HOUSING

TRAVEL-EC360B 7117-38230 ANGULAR BEARING 

TRAVEL-EC360B 14515056 SUN GEAR NO.1

TRAVEL-EC360B 7117-38400 SUN GEAR NO.2

TRAVEL-EC360B 7117-38330 SUN GEAR NO.3

TRAVEL-EC360B 14522998/14579901 FLOATING SEAL

TRAVEL-EC360B 14513559 PLANET GEAR NO.1

TRAVEL-EC360B 7117-38350 PLANET GEAR NO.2

TRAVEL-EC360B 7117-38271 PLANET GEAR NO.3

TRAVEL-R2200LC-7 XKAQ-00233 CARRIER ASS'Y NO.1

TRAVEL-R2200LC-7 XKAQ-00226 CARRIER ASS'Y NO.2

TRAVEL-R2200LC-7 XKAQ-00224 RING GEAR 

TRAVEL-R2200LC-7 XKAQ-00242 SUN GEAR NO.1

TRAVEL-R2200LC-7 XKAQ-00237 PLANET GEAR NO.1

TRAVEL-R2200LC-7 XKAQ-00240 PIN NO.1

TRAVEL-R2200LC-7 XKAQ-00238 BEARING NO.1

TRAVEL-R2200LC-7 7117-00235 SUN  GAER NO.2

TRAVEL-R2200LC-7 XKAQ-00228 PLANET GEAR NO.2

TRAVEL-R2200LC-7 XKAQ-00231 PIN NO.2

TRAVEL-R2200LC-7 XKAQ-00229 BEARING NO.2

TRAVEL-R3000LC-7 XKAQ-00197 XKAQ-00400 CARRIER ASS'Y NO.1

TRAVEL-R3000LC-7 XKAQ-00188 XKAQ-00399 CARRIER ASS'Y NO.2

TRAVEL-R3000LC-7 XKAQ-00179 KXAQ00398 CARRIER ASS'Y NO.3

TRAVEL-R3000LC-7 XKAQ-00206 RING GEAR 

TRAVEL-R3000LC-7 XKAQ-00199 PLANET ASS'Y NO.1

TRAVEL-R3000LC-7 XKAQ-00190 PLANET ASS'Y NO.2

TRAVEL-R3000LC-7 XKAQ-00181 PALNET GAER NO.3

TRAVEL-R3000LC-7 R3000LC7-CAA2

TRAVEL-R3000LC-7 R3000LC7-CAA3

TRAVEL-R3000LC-7 XKAQ-00203 SUN GEAR NO.1

TRAVEL-R3000LC-7 XKAQ-00195 SUN GEAR NO.2

TRAVEL-R3000LC-7 XKAQ-00186 SUN GEAR NO.3

TRAVEL-S300LC-V/DH300LC-7 K1003027 CARRIER ASS'Y NO.1

TRAVEL-S300LC-V/DH300LC-7 K1003028 CARRIER ASS'Y NO.2

TRAVEL-S300LC-V/DH300LC-7 K1003029 CARRIER ASS'Y NO.3

TRAVEL-S300LC-V/DH300LC-7 K9000804 RING GEAR 

TRAVEL-S300LC-V/DH300LC-7 K9000799 PLANET GEAR NO.1

TRAVEL-S300LC-V/DH300LC-7 K9000795 PALNET GEAR NO.2

TRAVEL-S300LC-V/DH300LC-7 K9000791 PLANET GEAR NO.3

TRAVEL-S300LC-V/DH300LC-7 K9000802 SUN GEAR NO.1

TRAVEL-S300LC-V/DH300LC-7 K9000798 SUN GEAR NO.2

TRAVEL-S300LC-V/DH300LC-7 K9000794 SUN GEAR NO.3

HUB-DX210W(DX210W-7)/R210W(R210W-9) ZGAQ-03208 ZCAQ-02204 K9004163 4472 348 028 SUN GEAR RR

O/D:Φ85.9

I/D:Φ40



22T GEAR SD-2

A :O/D:Φ50/15T

     I/D:Φ14.4/10T

EX200-1   B :O/D:Φ79.1/19T GEAR PUMP SHAFT

 C: O/D:Φ70

L:171

O/D:Φ98

I/D:Φ53.5/Φ47

EX200-5(S/M) L:96 SUN GEAR

26T SD-2

O/D:Φ149/34T

EX200-5(M/P)-L I/D:Φ47.5/19T GEAR

L:30.5 34T*19T

O/D:Φ148.9/34T

EX200-5(M/P)-R I/D:Φ47.5/19T GEAR

L:30.5 34T*19T

O/D:Φ149/34T

EX200-5(M/P) I/D:Φ45/18T GEAR-GP/HP

L:20 34T*18T

A:Φ32.6/20T

ZAXIS200(T/M) B:Φ109.5/25T T-GEAR-DRIVE

L:236 25T*20T

I/D:Φ94

ZAXIS200(T/M) L:46.3 CARRIER#1

25T

ZAXIS200(T/M) I/D:Φ97.5/26T CARRIER#2

L:70.3 TD-2

O/D:Φ346

ZAXIS200(T/M) O/D:Φ346 COVER

L:33.3

I/D:Φ296.2/76T

ZAXIS200(T/M) I/D:Φ264.2/68T RING GEAR

L:189.6

O/D:Φ93/21T

ZAXIS200(T/M) I/D:Φ42 PLANETARY GEAR#1

L:14.6

O/D:Φ93/21T

ZAXIS200(T/M) I/D:Φ52 PLANETARY GEAR#2

L:29.9

O/D:Φ108/25T

ZAXIS200(T/M) I/D:Φ55 PLANETARY GEAR#3

L59.8

O/D:Φ109.5/25T

ZAXIS200(T/M) I/D:Φ67.9 SUN GEAR#1

L:53.6

O/D:Φ112/26T

ZAXIS200(T/M) I/D:Φ67.8 SUN GEAR#2

L:92.1

O/D::Φ104.5/23T

SK200-5/6 I/D::Φ42 SUN GEAR#2

L:81.5 SD-2



O/D::Φ88.5/19T

SK200-5/6 I/D::Φ31.7/19T SUN GEAR#1

L:23.9 SD-1

O/D:Φ104.5/23T

SK200-5/6 I/D:Φ42 SUN GEAR#2

L:81.5 ? SD-2

(L-61/82.3)

O/D:Φ88.5/19T

SK200-5/6 I/D:Φ31.7/19T SUN GEAR#1

L:23.9 SD-1

O/D:Φ104.9/23T

SK200-8(S/M) I/D:Φ42.1 SUN GEAR#2

L:83.2

O/D:Φ92.7/20T

SK200-8(S/M) I/D:Φ47.6 PLANETARY GEAR#1

SUPER L:22 SD-1

USE 4PCS

O/D:Φ88.5/19T

SK200-8(S/M) I/D:Φ31.7/19TT SUN GEAR#1

L:25.9 19T*19T

I/D:Φ88.98/23T

SK200-8(S/M) L:22.5 CARRIER#1

SK200-8 SUPER CARRIER C/W PIN

O/D:Φ84.8/18T

SK200-8 I/D:Φ43 PLANETARY GEAR#2

L:47

O/D:Φ227.2

SK200-5/6(S/M) L:14 CARRIER ASS'Y&SPIDER ASS'Y#1

TRIANGLE TYPE c/w pin

O/D:Φ93/20T

SK200-5/6/6E(S/M) I/D:Φ47.5 P/L GEAR#1

L:20.1

USE 3PCS

O/D:Φ84/18T

SK200-5/6(S/M) I/D:Φ43 P/L GEAR#1

L:43 SD-2

O/D:Φ232

SK200-5/6(S/M) I/D:Φ85/32T SPIDER ASS'Y#2

L:96 SD-2

上：A:Φ58.92/14T

B:Φ39.4/12T 上：CENTER GEAR L:187

SK200-1(T/M) 下：A:Φ40

B:Φ39.4/12T ?X 下：SHAFT  L:283.6

C:Φ55/14T 14T X 48/27T 

O/D:Φ109.5/25T

SK200-3(S/M) I/D:Φ50 SUN GEAR#2

L:76.7 SD-2

SK200-1/3(S/M) 184.2*184.2*24 SPIDER ASS'Y#1

I/D:Φ95/25T

O/D:Φ90.4/20T

SK200-3(S/M) I/D:Φ48.8 P/L GEAR#1

L:17 SD-1

O/D:Φ96/22T

SK200-3(S/M) I/D:Φ40/16T SUN GEAR#1

L:20



O/D:Φ84.8/18T

SK200-3(S/M) I/D:Φ43.5 P/L GEAR#2

L:43 SD-2

O/D:Φ293T

PC200-8 I/D:Φ189/120T CARRIER#2

L:119

PC200-8 O/D:Φ377 COVER

L:37

O/D:Φ176.8/15T

PC200-7 Φ125*Φ95*Φ90/22T PINION SHAFT

L:375 15T*22T

A:Φ41.6/10T

PC200-6/7 B:Φ32.8/18T GEAR CENTER

L:213.6 10T*18T

A:Φ32.9/18T

PC200-8 B:Φ41.5/10T DRIVE SHAFT#1

L:205.5 10T*18T

O/D:Φ78.2/21T

PC200-8 I/D:Φ42 SUN GEAR#2

L:77.8

O/D:Φ123.5/36T

PC200-8 I/D:Φ70.8 P/L GEAR#2

L:50.9

O/D:Φ237.8

PC200-7 I/D:Φ82.5/22T CARRIER#2

L:114 SD-2 ??

A:Φ32.8/18T

PC200-7 B:Φ41.7/10T GEAR CENTER

L:218.5 18T*10T



Class
MOTROS

Part No.
Serial No. Machine Model Class

MOTROS

Model No.
Serial No. Machine Model

1.5 ton MT1A-15B16 Nachi PHV-2B Yanmar, Kubota

2 ton MT3A-20B16

3 ton MT1A-30B16 Hitachi EX30, Doosan DX30

3 ton MT3A-30B16-O Kayaba MAG-18VP-320E Hitachi ZX35U, BOBCAT

3.5 ton MT1A-35B21 GM03VL Komatsu PC40, YANMAR VIO030 2401-9255(D) S50, S55-5

5 ton MT1A-50B44 31M8-40020(H) R555-7 MS3D-50B29 31M8-10130, 31M9-10130 R555-7, Hyundai 5 ton class

7 ton MT1A-70B47 401-00335(D), GM10VA
PC80, PC80-3, S75-V,

R80-7, SK035
MS1D-70B43 401-00403(D) S75-V, S75V, 

MT1A-80B53 MS3D-70B43 31N1-10130 Hyundai 7 ton class

MT1A-80B53-N 22 ton MS1D-220B151 31N6-10210(H) R2200LC-7, R2000W-7, R210-7

11 ton MT1A-110B67 31N3-40040(H) R110-7, CAT312 31Q8-10170 (H) R300LC

MT1A-140B76 401-00457B (D) S300V

MT1A-140B76-N 2401-9309 (D) S400V, S420-V, S360-V, S330-V

MT1A-220B147 K1007543 (D) DX340, DX350, DX420, DX360

MT1A-220B147-N 401-00359 (D) S370-V

25 ton MT1A-250B168 B0240-93040 Sumitomo 280, Kato HD1430-3 2401-9291P(D) S370-5, DX380

29 ton MT1A-290B155 31N8-40051(H) R2900-7, R3000LC-7

30 ton MT5A-300B155 170401-00048 DX300

34 ton MT5A-340B170 170401-00014B, K1003131 DX340

36 ton MT1A-360B185
31QA-40040/40041

TM70V
R360LC-9

* MOQ will be required to make an order.

* The unit price is based on FOB terms

* The price can be flexible upon currency change

FINAL DRIVE

30 ton MS1D-300B195

36 ton MS1D-330B250

7 ton

MS1D-50B29

SLEWING MOTOR

5 ton

401-00307B(D) S55-5, S55W-5, DH60-7

8 ton

Contact

14 ton

31N4-43040(H)

31Q4-40040(H),

GM21VA, GM18VL

R140-7, R140-9, TB1140, CAT317, CAT318

22 ton

31N6-40032(H), 31N6-

40050, 31N6-40051,

GM35VL, TM40VC

DX225, R220-7, EC210B, MX255, R210-7

Motros

info@motros.net

Tel:+82 2 6672 3363  Fax:+82 2 6672 3362



K3V63 K3V112 K3V112 K3V140 K3V140 K3V180(DTH) K3V200(DTH) K5V80 K5V140

HNOJ  /  F HNOP/J 9N62 HNOP 1OL9 HN0V 9N0M HNOW 9N01

HNOV HNOH 9N94 HN1P 1PH9 HN1V 9N0Z 9C01 9N02

HNOP HONV 9N24 HNOV 1PM9 HN2V 9N2M 9C02 9N07

HNOW  /  F HN0P 9NP9 HNP2 1PL9 HN1Q 9N2Z 9C05 9N29

HN1Q HN1V 9N11 HN1C 2N09 HN2Q 9NOA 9C07 9N39

HN19 HN1F 9N2E HN2C 2N11 HNOQ/F 9NOB 9NOJ 9NO3

HN1V HN1P 9NC9 HLOP 2N12 HN3V-A/F 9NE9 9N02 9NO8

HN1T HN9C 9ND9 HN12 2N22 9N3M 9N34 9N05 9CO9

HN1C HNOD 9P12 HN1V 2N46 9N3S 9NH9 9N07 9C12

HN2C HNOM 9P99 HN2V 2N23 9N4M 9N1M 9NOJ 9PO2

9C22 HN1M 2N0C HNO7 2N24 9N4S 9NOB 9N02 5NCJ

9COS HN2M 2N1Z 9N04 2P22 9N1S 9N2A 9N05

9C05 HN3M 2N09 9N05 2PO1 9N5S 9N4A 9N07

9C39 HNOF 2N19 9N09 2PO2 9N5M 9N2B 9N35

9COH HN0C 2N69 9N19 5NCJ 9N1M 9NOS 9N37

9NOH HN1C 1NCJ 9N29 FN05 9NOB 9NOM 9N12

9N69 HNGL 2P69 9N39 9N2A 9COS 9N1J

9NO9 9C0B/F.R 9S01 9N46 9N4A 9COM 9N61

9NO3 9C02 9C72 9N56 9NOS 9CO6 9N62

9NO2 9C32 9P22 9N62 9NOM FNOS 9NON

9NOS 9C39 1NED 9N69 9COS FNOM 9NOM

9N12 9C3P 2N89 9N70 9COM 2N12 9NOY

9N1S 9C09 2ND9 9NOG 9CO6 2N22 9NOX

9NO1 9C52 5NCJ 9ND9 FNOS 9NA2

9NOV 9C59 9NE9-HV FNOM 9NB2

9NOT 9C62 9NJ9 2N12 9N91

9N1T 9C79 9N5T 2N22 9N92

9N19 9N02 9NL9 9N45

9NOQ 9N09 9N34 9N55

9N3H 9N18 9N5P 9N57

9N39 9N29 9C04 9N2X

9N4H 9N3P 9C06-2 9N2Y

9N49 9N5P 9C12 1N37

9NOX 9N34 9C16 2NCS

9NOY 9N24-1 9C69 5NCJ

6N03A 9N2A-1 9C79 1O37

2N0C 9N2L 9C7S

2N1C 9NM9 9COG

2N2C 9N1A 1NCJ-L

2N01 9N2M 1NCJ-B

2N02 9N2D 1NED

2N12 9N1C 1NJJ

2N0D 9N1T 1NJK

N27C 9N2T 1OH9

2C2C 9N5C 1OM9

PUMP MODEL

■ REGULATOR  LIST (PUMP ASSEMBLY)



Our JRC & JRT Series is low speed & high torque radial piston motor.

It is suitable to wide range of applications such as injection molding machines, marine machineries etc. It is high efficient and low noise hydraulic motor.

JRC SERIES

Displace

ment

(cc/rev)

Rated

Speed

Continuo

us Max

Speed

Rated Max 100% 50% 100% 50% 100% 50%

JRC-

200
201 360 600 47 62 17 JRT-500 499 250 500 1000 155 78

JRC-

400
403 230 400 97 115 23 JRT-750 748 374 400 800 233 116

JRC-

500
499 290 500 155 184 46

JRT-

1000
1005 502 360 720 313 156

JRC-

650
654 276 457 201 239 57

JRT-

1200
1206 603 330 660 369 184

JRC-

750
748 260 400 233 277 62

JRT-

1350
1357 678 315 630 417 208

JRC-

1000
1005 240 360 313 372 77

JRT-

1500
1507 753 300 600 463 231

JRC-

1200
1206 230 330 369 439 87

JRT-

2100
2099 1049 260 520 645 322

JRC-

1350
1357 215 315 417 496 92

JRT-

3200
3203 1601 205 410 982 491

JRC-

1500
1507 200 300 463 551 95

JRT-

3500
3516 1758 195 390 1076 538

JRC-

2100
2099 180 260 645 767 119

JRC-

3200
3203 140 205 982 1168 141

JRC-

3500
3516 135 195 1076 1280 149

JRC-

4500
4516 120 145 1382 1643 170

JRC-

5000
5032 110 130 1534 1727 174

JRC-

6600
6580 90 120 1979 2230 183

Displacement

(cc/rev)

Speed(rpm)
Torque

(kgfㆍm)
ModelModel

Speed(rpm)
Torque

(kgfㆍm)
Rated

Output

(kw)

JRC Specification JRT Specification



Motros Part No. Original Part No. Machine Model

MJ1A-00237 / 238 420-00237/238
S170-V.S200W-V.S220-V.S290-V. S330-

V.S400-V.S420-V.S450-V

MJ1A-00014 / 00015 420-00014A/00015A S225LL,S300LL

MJ1A-00342 / 343

420-00342A/343A

420-00342B/343B

420-00344B/345B

S140-V.S210-V.S290-V.S300-V.S175-V

S330-V.S340-V.S370-V.S400-V.S420-V

S340-7,S300-VYD.DH300-7,S255-V,S225-7

S180W-V,S140W-V,S150LC-7,S225-VYD

MJ1A-00355 / 356
420-00355A/356A

420-00358A/359A
S420LC-V,S470LC-V

MJ1A-00104 426-00104 M500VT,M400-V FL

MJ1A-00105 426-00105
M250-V,M250-V FL,M250-VT FL,M300-VT

M160-V,M160,M200-V

MJ1A-07088 / 07090 K1007088E/90E
DX420LC,DX480LC,DX520LC

TXC420LC-2,TXC480LC-2

MJ1A-00555E / 556E K1000555E/556E

DX220LC,DX255LC,DX180LC,DX340LC

DX380LC,DX300LC,DX225LC,TXC300LC-2

TXC340LC-2,TXC225LC-2

MJ1A-09660A / 09661A K1009660A/661A DX300LL

MJ1A-00555G/ 556G K1000555G/556G

DX220LC,DX255LC,DX180LC,DX225NLC

DX140LC,DX225LC,DX340LC,DX380LC,

DX300LC,DX140W,DX190W,DX210W

DX140WE,TXC300LC-2,TXC340LC-

2,TXC140LC-2

TXC180LC-2,TXC225LC-2,TXC255LC-2

MJ1A-00447 / 00448 420-00447/448 S55-VGP

MJ1A- 09518 / 09519 2420-9518/9519 S55-V

MJ1A- 09615/09616 2420-9615/9616 S015,S030

MJ2A-20050 / 20060

31ER-20050/20060

31M6-51111/51101

31M6-51100/51110

31M8-20010/20020

RX130LC1.R130WA1.R200WA1.

R220LC1.R260LC,555MVP,R2500LC-3

MJ2A-20110/20120

31ER-20160/20170

31ER-20110-20120

31E1-20240

R1300WM.R130W-3.R160LC-3.R170W-3.

RX200LC1,R2900LC-3,R450LC-3

R180LC-3.R2000W-3.R2200LC-3.R250LC-

3

MJ2A-20180/20190 31ER-20180/20190 R320LC-3.R3600LC-3.R360LC-3

MJ2A-20150/20160
31N8-20150/20160

R1400LC-7.R140LC-7.R210LC-7/R250LC-

7.

R2900LC-7.R320LC-7.R360LC-7.R450LC-7

MJ2A-20061/20071

31N6-20061/20071

31N6-20060/20070

31ER-20070/20080

31N8-20200/20210

31N8-24200/24210

31N8-20150/20160

R3000LC-7,R2000W-7,R2200LC-

7,R320LC-7

R290LC-7,R4500LC-7

MJ2A-26200/26210 31N6-26200/26210

R110-7A; R140LC-7A; R160LC-7A;

R180LC-7A; R210LC-7A; R210NLC-7A;

R140W-7A; R170W-7; R170W-7A; R200W-

7A

MJ2A-51111 31M6-51111 R55-7, R55W-3, R55W7

                                


